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Question Number : 1 Question Id : 64635029075 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

As per the cognitive development theory of Jean Piaget, adolescent students are in which
stage of development?

(1) Sensory motor stage (2) Concrete operational stage
(3) Operational stage (4) Formal operational stage

Options:



E45350114139. 1
645350114140 2
645350114141, =
64535011414% 4

Question Number : 1 Question Id : 64635029075 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350114135, 1
645350114140 2
645350114141, =3
E4E350114142. 4

Question Number : 2 Question Id : 64635029076 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Below 1s given a list of teaching methods and approaches. Which among them are
individualized approach?

(a) Demonstration method

(b) Modular approach based teaching

() Programmed learning

(d) Personalized teaching

(e) Collaborative method

Select your answer from the options given below :

(1) (a), (b) and () (2) (b)), () and (d)
(3) (), (d) and (e) @) (a), (d) and (e)
Options:

E4E350114142. 1
E4E350114144 2
645350114145 =
645350114146 4

Question Number : 2 Question Id : 64635029076 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E45350114142. 1
E45350114144 2
645350114145 =
645350114146 4

Question Number : 3 Question Id : 64635029077 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following statements is true in the case of a test prepared by you as a teacher?

(1) If a test 1s reliable, it 1s objective
(2) If a test 1s valid, 1t 18 reliable also
(3) If a test 1s reliable, 1t 1s valid

(4) If a test 1s valid and reliable, 1t 1s usable
Options:

6463501141471

646350114148 2

645350114149

E4E250114150 4

Question Number : 3 Question Id : 64635029077 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350114147 1
645350114148 2
645350114149 =
646350114150 4

Question Number : 4 Question Id : 64635029078 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following statements best explains the concept of team teaching?

(1) More than two teachers teach

(2) More than two teachers plan and teach together the same class

(3) More than two teachers plan and teach the same class as per their expertise.
(4) A team of teachers who are ready and available to teach the students
Options:

645350114151, 1
645350114152 2
E4E5350114153. =2
E45350114154. 4

Question Number : 4 Question Id : 64635029078 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

48350114151 1
E4E350114152 2
645350114152 =
645350114154 4

Question Number : 5 Question Id : 64635029079 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following bases can be counted to judge the effectiveness of teaching?
(a) Marks obtained by students in overall subjects

(b) Level of realization of instructional objectives

(c) Time taken by the students to learn.

(d) Resources used by the teacher in teaching

(e) Regularity of students in class.

Select yvour answer from the options given below :

1)  (a), (b) and () (2) (a), (b) and (d)
3 (0, (d) and (¢) 4) (b), (c) and (d)
Options:

645350114155, 1
645350114156, 2
645350114157, 3
E4EZ501141558. 4

Question Number : 5 Question Id : 64635029079 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E45350114155. 1
645350114156, 2
645350114157 =2
6453501141558 4

Question Number : 6 Question Id : 64635029080 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When the researcher does not know the identity of the experimental and placebo groups, the
study 1s termed as

(1) Blind (2) Double - blind
(3) Panel 4) Cohort
Options:

645350114155, 1
645350114160 2
645350114161, 3
E4EZ50114162. 4

Question Number : 6 Question Id : 64635029080 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350114155, 1
645350114160 2
645350114161, =



E4E350114162. 4

Question Number : 7 Question |d : 64635029081 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Research that focuses on social inequality between men and women 1s called

(1) Comparative research (2) Longitudinal research
(3) Action research (4) Feminist research
Options:

E45350114163. 1
645350114164 2
645350114165, 2
645350114166 4

Question Number : 7 Question Id : 64635029081 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E45350114163. 1
645350114164 2
645350114165, =
645350114166, 4

Question Number : 8 Question Id : 64635029082 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The easiest attitudinal scale which 1s a summated rating scale 1s the

(1) Guttman Scale (2) Likert scale
(3) Thurstone scale (4) MLA scale
Options:

645350114167, 1
E4E350114168. 2
E4535011416%9. =
EAE350114170. 4

Question Number : 8 Question Id : 64635029082 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E350114167. 1
E4E350114168. 2
E453501141639. =
645350114170, 4

Question Number : 9 Question Id : 64635029083 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Quantitative research is also called the

(1) Ethnographic approach (2) Unstructured approach
(3) Descriptive approach (4) Structured approach
Options:

E4E350114171. 1
EAE350114172. 2
645350114173 =2
645350114174 4

Question Number : 9 Question Id : 64635029083 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E4E350114171. 1
EAE350114172. 2
E45350114173. 2
645350114174 4

Question Number : 10 Question Id : 64635029084 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In the research method, generalisations may be made that will be applicable to other
situations of the same type. What 1s this called?

(1) Cohort study (2) Case study
(3) Panel study (4) Blind study
Options:

645350114175, 1
645350114176, 2



E4E350114177. =
645350114175 4

Question Number : 10 Question Id : 64635029084 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E45350114175. 1
EAE350114176. 2
645350114177, =
645350114175 4

Sub-Section Number: 2
Sub-Section 1d: 6463501415
Question Shuffling Allowed : Yes

Question Id : 64635029085 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Cuestion Label © Comprehension

Read the passage carefully and answer question

Intelligence is associated with academic achievement by most people. The various theories of
intelligence created by psychologists hold that there are two kinds of academic intelligence-
verbal and mathematical or logical. Intelligence 12 an inherited trait that impacts individual
behaviour and performance according to most experts. But, many research studies have
revealed that the environment greatly impacts the development of intelligence. Since, one
property of intelligence 1s analytical and reasoning skills, people with high intelligence
quotient will understand the problem at hand better than people with a low 1Q.

Many orgamzations consider intelligence as an important criterion while recruiting. For
instance in many management schools. a lot of weightage 1s given to high 1Q while admitting
students or recruiting faculty members. The qualities of intelligent people are high energy
drive, achievement and competitiveness. Very intelligent employees learn job — related sklls
and other organisational practices quickly and organisations have to spend less time
training them. People with high intelligence have good decision making ability due to their
cood analytical and reasoning skills, with a hgh achivement drive, they are mostly by very
productive. As the saying goes, ‘A wise enemy i1s better than a foolish * friend ;

Even with such a high IQ very intelligent people may not always be very happy. The high 1Q
makes them dysfunctional leading to anxiety and depression. Generally speaking, people
with at high intelligence quotient are often dissatisfied people.



Sub questions

Question Number : 11 Question Id : 64635029086 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

When a student stands first in the class, the general credit 1s given to :

(1) Contacts (2) Intelligence
(3) Hard work (4) Attractive features
Options:

645350114173, 1
E4E350114180. 2
E4E350114181. =
6453501141582 4

Question Number : 12 Question Id : 64635029087 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Those who understand a problem in a short span of time will be people with

(1) High IQ (2) LowIQ
(3) Average [Q (4) GoodIQ
Options:

6453501141382 1
E4E3501141584. 2
E4E350114185. =
645350114156, 4

Question Number : 13 Question Id : 64635029088 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
High energy drive, achievements and competitiveness are valued during

(1) Admission (2) Recruitment
(3) Promotion (4) Admission and recruntment
Options:

6453501141587, 1
645350114188, 2
6453501141389 3
E4E350114130. 4

Question Number : 14 Question Id : 64635029089 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Dissatisfaction 1s often witnessed in people with

(1) Creative skills (2) High expectations
(3) Good decision — making ability (4) High education qualifications



Options:

645350114191 1
648350114192 2
45350114192 =
645350114194 4

Question Number : 15 Question Id : 64635029090 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Another word for ‘Weightage' 1s

(1) Credit (2) Mass
(3) Weight (4) Freedom
Options:

645350114155, 1
6453501141396, 2
645350114157, 2
645350114195 4

Question Id : 64635029085 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Cuesticon Label | Comprehension
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Question Number : 11 Question Id : 64635029086 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350114173, 1
645350114180 2
645350114181, =
645350114152 4

Question Number : 12 Question Id : 64635029087 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E45350114182. 1
645350114184 2
645350114185 2
645350114156 4

Question Number : 13 Question Id : 64635029088 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6453501141587, 1
645350114188, 2
645350114185 =
645350114130 4

Question Number : 14 Question Id : 64635029089 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350114191 1
648350114192 2
45350114192 =
645350114194 4

Question Number : 15 Question Id : 64635029090 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E45350114195. 1
E4E350114196. 2
645350114157, =
6453501141395 4

Sub-Section Number: 3
Sub-Section 1d: 6463501416
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635029091 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The cognitive domain of communication involves matters related to

(1) Emotions (2) Knowledge
(3) Fantasy (4) KEscapism
Options:

E453501141939. 1
E4E350114200. 2
645350114201, =
645350114202 4

Question Number : 16 Question Id : 64635029091 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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6453501141595, 1



EAE350114200. 2
645350114201, =
645350114202, 4

Question Number : 17 Question Id : 64635029092 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In a class room, a student to be an effective listener, has to take note of

(a) The teacher appearance (b) The peer group
(¢c) The academic content (d) Communication distractions

Choose the correct answer from the options given below :

(1) (&), (b)and () (2) (), (©) and (d)
3) (@), (d and () (4) (c) and (d) only
Options:

E45350114203. 1
645350114204, 2
645350114205, 2
645350114206, 4

Question Number : 17 Question Id : 64635029092 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350114203, 1
645350114204, 2
645350114205, =
EAE350114206. 4

Question Number : 18 Question Id : 64635029093 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Since most interactions with other people take place at a highly superficial level, making
good becomes difficult.

(1) Course corrections (2) Predictions
(3) Deeds (4) Announcements
Options:

E4E350114207. 1
645350114208, 2
645350114205 2
645350114210 4

Question Number : 18 Question Id : 64635029093 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350114207, 1
645350114208, 2
E4E35011420%9. =
EAE350114210. 4

Question Number : 19 Question Id : 64635029094 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In both mass communication and classroom communication, filtering of information and
contents 1s referred to as

(1) Rationalisation (2) Gate keeping
(3) Content correction (4) One — way flow
Options:

645350114211, 1
E4E350114212. 2
E4E350114212. =
645350114214 4

Question Number : 19 Question Id : 64635029094 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E45350114211. 1
645350114212 2
645350114213 =
645350114214 4

Question Number : 20 Question Id : 64635029095 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Assertion (A) : No enculturisation takes place with resistance
Reason (R) . People have their own values and self — interest that filter communicated
messages

Choose the correct answer from the options given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false
(4) (A) is false, but (R) is true

Options:

645350114215 1
645350114216 2
648350114217 2
645350114213 4

Question Number : 20 Question Id : 64635029095 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350114215 1
645350114216, 2
645350114217
645350114218 4

Question Number : 21 Question Id : 64635029096 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Ifin a certain code, BAT = 23 and CAT = 24, then how you will code BALL?

1 27 (2) 28
(3) 32 4) 89
Options:

6453501142139, 1
645350114220 2
645350114221, 3
EAE350114222. 4

Question Number : 21 Question Id : 64635029096 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6453501142139, 1
645350114220 2
645350114221, 3
645350114222 4

Question Number : 22 Question Id : 64635029097 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The product of two numbers @ and & 1s twice the sum of the numbers. What 1s the sum of
the reciprocals of @ and b?

(1) 1/8 (@ 12
@ 2 @ 4
Options:

E4E350114223. 1
645350114224 2
645350114225 =3
645350114226 4

Question Number : 22 Question Id : 64635029097 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

a S @ SN b I UAET 3 FEATAl & A0 FGFAT 2, @ @ AR b % ogeRH F AR {1 2em e

(1) 1/8 (v 12
(3) 2 @ 4

Options:



E4E350114223. 1
645350114224 2
645350114225 =
645350114226 4

Question Number : 23 Question Id : 64635029098 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A group of 40 employees of Cadre A has a mean age of 31. A diffferent group of 60 employees
of Cadre B has a mean age of 28. What 1s the mean age of two employees of the two groups
together?

(1) 298 (2) 295
@  20.2 4 29
Options:

645350114227 1
645350114228 2
645350114223 =
645350114220 4

Question Number : 23 Question Id : 64635029098 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Hearl A % 40 ®HEEl 6 U wg h iiEd A 31 oW 2| 4l B & 60 FHAEl % U HAH Hgg H
a9y 28 a9 21 F 4T GHgl & FHAE i ww @y Warwt divd S e 27

(1) 29.8 a4 (2) 295ad
(3  29.2a9 @) 29ag
Options:

645350114227 1
645350114228 2
645350114223 =
645350114220 4

Question Number : 24 Question Id : 64635029099 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

An aeroplane flies along the four sides of a square field at the speed of 400, 600, 800 and
200 km/hr. Find the average speed of the plane around the field.

(1) 324 km/hr (2) 360 km/hr
(3) 384 km/hr (4) 396 km/hr
Options:

E45350114231. 1
EAE350114232. 2
645350114233 =
6453501142234 4



Question Number : 24 Question Id : 64635029099 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

UF fauFE U anier 8gF % "R AT T 400, 600, 800 i 200 . H. /4. 6 nfa 4 Iga1 2| HEW *
=il @ faam fi e nfd saEe

(1) 324 fo |t fa. (2) 360 .4t /g,
(3) 384 /4. @) 396 f&.Hi. /9.
Options:

E45350114231. 1
645350114232 2
645350114233 =2
645350114234 4

Question Number : 25 Question Id : 64635029100 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A retailer marks all his goods at 40% above the cost price and thinking that he will still

make 20% profit, offers a discount of 20% on the marked price. What 1s his actual profit
percentage on the sales?

(1) 20% (2) 18%
3) 16% @ 12%
Options:

E45350114235. 1
EAE350114236. 2
645350114237, =
645350114228 4

Question Number : 25 Question Id : 64635029100 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

UF Geu fashal A wfi aEqul T AvE god ¥ 40% AfUE god AfF war 2 A 38 SER 20% A
i Irilg TEar 31 39 WU gz AfeT Ged W 20% Y g2 3ar 21 fsht W Sh awafes e wfawa am
g ?

(1) 20% (2) 18%
(3) 16% @ 12%
Options:

645350114235, 1
645350114236 2
645350114237 3
E4AEZ50114238. 4

Question Number : 26 Question Id : 64635029101 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



All gentlemen are polite

No criminals are polite

No eriminals are gentlemen.

Identify the major term 1n above syllogism.

(1) Predicate in the premaises

(2) Subject 1n the premises

(3) Subject of the first premise and predicate of the conclusion
(4) Subject of the second premise and subject of the conclusion

Options:

645350114239 1
645350114240 2
648350114241 =
E4E350114242 4

Question Number : 26 Question Id : 64635029101 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ot wg et fomw 2

% AT Ay A8 2

g AqUHl W eaft A 2l
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(1)  Aramari § 9
(2)  ranaEEi § Fadi
(3) UM TGS 1 wdl AR s w5 fagw
4) g SEvEEE H Fal S R

Options:

645350114239 1
645350114240 2
648350114241 =
E4E350114242 4

Question Number : 27 Question Id : 64635029102 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the argument under which instantial propositions are inferrable from Umiversal
Proposition.

(1) Deductive argument (2) Inductive argument
(3) Reductive argument (4) Analogical argument
Options:

645350114242 1
645350114244 2



E4E350114245. =
645350114246, 4

Question Number : 27 Question Id : 64635029102 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
3 @ i vFEH HiE e w-aid aEdiites dhae O gEAUTE ATIRETE F S SFTET ST el
2

(1)  AETEE a6 (2) ATPHHTHS T
(3)  IFEE Th 4) BETIHE 9%
Options:

E4E350114243. 1
E4E350114244 2
E45350114245. =
645350114246, 4

Question Number : 28 Question Id : 64635029103 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Bangalore 12 bigger than Jhansi, Satpura i1s bigger than Chittor, Rajgarh 1= not as big as
Jhansi but 1s bigger than Satpura. Which 1s the smallest?

(1) Banaglore (2) Jhansi
(3) Satpura (4) Chittor
Options:

645350114247 1
645350114248 2
E4E35011424%9. =
EAE350114250. 4

Question Number : 28 Question Id : 64635029103 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T A B A e 2, gayel fadie & w9 vg 21 tore st % wuH e A8 2, dAfed ag "agg &
A2 2| TN B A B?

(1) R (2) =
3 W @) feuite
Options:

645350114247 1
E4EZ50114248. 2
E45350114249. =
645350114250 4



Question Number : 29 Question Id : 64635029104 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A perception where we do not have the knowledge of an object characterized by any predicate
but an apprehension of some unrelated elements is called as?

(1) Determinate perception (2) Indeterminate perception
(3) Verbal testimony (4) Implication
Options:

645350114251 1
EAE350114252. 2
E4E350114252. =
645350114254 4

Question Number : 29 Question Id : 64635029104 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

a8 yeaz S g gl feft awg o 3 foeft fad &t fadiwan gra = @i aifes wfaua sefoa sedi
& 19 & Fd1 2, FErdi 2

(1)  F=a gz (2) AFHEd geaH
(3)  arfers gegE (4 g
Options:

E4E350114251. 1
EAE350114252. 2
E45350114253. =
645350114254 4

Question Number : 30 Question Id : 64635029105 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the argument provided below :
“Sound is impermanent because it 1s audible”

Identify the fallacy involved 1n the above argument on the basis of Indian Logic from the
options given below :

(1) Fallacy of Trivial reason (2) Fallacy of irrelevant reason
(3) Fallacy of Wrong assertion (4) Fallacy of contradictory reason
Options:

E4E350114255. 1
EAE350114256. 2
E45350114257. =
645350114255 4

Question Number : 30 Question Id : 64635029105 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frafafiga b w fomr i
‘et el 2 w9ife 97w B
A=t foa 7 faren @ wnda adhura % snan w IEE a4 H A i vgem il

(1) IO I B eaH (2)  3ETd ddb BT BT
(3) e HHBYH B FATH (4) Ty dd &1 g
Options:

E45350114255. 1
EAE350114256. 2
645350114257, =
645350114258 4

Sub-Section Number: 4
Sub-Section 1d: 6463501417
Question Shuffling Allowed : Yes

Question Id : 64635029106 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Cuestion Label © Comprehension

Consider the following table that shows the total number of students and percentage of
females and males in five different departments.

Answer the questions based on the data contained in the table.

Department  Percentage Percentage Total No.
of Females  of males  of studenis

Physics 45 55 450
Chemistry 35 65 550
English 55 45 300
Hindi 60 40 250
Mathematics 40 60 500

Sub questions

Question Number : 31 Question Id : 64635029107 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What is the total number of females in English and Hindi departments together?

(1) 315 (2) 325
(3) 335 (4) 345
Options:

645350114255 1
645350114260 2
E4E350114261. =



EAE350114262. 4

Question Number : 32 Question Id : 64635029108 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What i1s the respective ratio of the number of male students in English Department to the

number of male students 1n Mathematics department?

(1) 2B b (2) 9:20
(3) 85 (4) 45:60
Options:

E4E350114263. 1
645350114264 2
645350114265 2
645350114266, 4

Question Number : 33 Question Id : 64635029109 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the departments has maximum number of female students?

(1) Physics (2) Chemistry
(3) English (4) Mathematics
Options:

E4E350114267. 1
EAE350114268. 2
6453501142685, =
645350114270, 4

Question Number : 34 Question Id : 64635029110 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The total number of students in the Chemistry department forms approximately what
percent of the total number of students in the mathematics department?

(1) 90% (2) 95%
@)  105% 4) 110%
Options:

645350114271, 1
645350114272 2
E4E350114273. =
EAE350114274. 4

Question Number : 35 Question Id : 64635029111 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the department has minimum number of male students?

(1) Physics (2) English
(3) Hindi (4) Mathematics
Options:

E4E350114275. 1
EAEZ50114276. 2
EAE350114277. 2
645350114275, 4

Question Id : 64635029106 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Juestion Label - Comprehension

e fefaa aroll v faem i) 3ad g fafe fawet J fernitiai 6 fa g aun 36 96 o s
1 gfawra 29iFT 7= 21| aroit § @4 13 2wl & 19 U 99l o 3 A |

ey ST F g H e #
yiawa yiavrd FT GEAT
Wifaw fasm 45 55 450
HEA ST 35 65 550
S 55 45 300
fad 60 40 250
i 40 60 500

Sub questions

Question Number : 31 Question Id : 64635029107 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A aun @1 faurn 4 Fa Tems Sl $1 Fa e /= 27

(1) 315 (2) 3825
@) 835 (4) 3845
Options:

645350114259, 1
E4EZ50114260. 2
E4E350114261. =
EAE350114262. 4

Question Number : 32 Question Id : 64635029108 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



sush e | sl & g qun it o § 9 i e w5 aqu = 2e

(1) 9:12 2 9:20
@ 3:5 @) 45:60
Options:

645350114263, 1
645350114264, 2
645350114265, =
EAE350114266. 4

Question Number : 33 Question Id : 64635029109 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fora fam § srnedi i sftrean g 27

(1)  wifas fagm (2) TEEA W=
(3) e (4) TrfoTd
Options:

E4E350114267. 1
6453501142688, 2
645350114265 =
645350114270, 4

Question Number : 34 Question Id : 64635029110 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

WA s fem d farnfeai 6 e g nfve fowm 9 feenfai i fa g w0 e fean gfderq 27

(1) 90% (2) 95%
(3) 105% 4 110%
Options:

E4E350114271. 1
EAE350114272 2
645350114273 3
645350114274 4

Question Number : 35 Question Id : 64635029111 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fer feramt o4 el =l Ay gy 2v
(1)  ifas fagm (2) st
@) = (4) wfte

Options:



E4E350114275. 1
EAE350114276. 2
645350114277, =
645350114275 4

Sub-Section Number: 5
Sub-Section 1d: 6463501418
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635029112 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The main two components of CPU are

(1) Control umt and ALU (2y ALU and BUS
(3) Control umt and registers (4) Registers and main memaory
Options:

645350114273, 1
645350114280 2
E4E350114281. =
EAE3501142582. 4

Question Number : 36 Question Id : 64635029112 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ot ft 3 % &1 geu waua @

1) g e AT T g (2) Uud g & ay
(3)  wrga g AN R (4) TR AR o\ aEh
Options:

E4E350114273. 1
EAE350114280. 2
E4E350114281. =
6453501142582 4

Question Number : 37 Question Id : 64635029113 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following 1s used to create web pages?

() HITE (2 URL
(3) e (4) HTML
Options:

6453501142583, 1
645350114284, 2



EAE350114285. =
645350114256, 4

Question Number : 37 Question Id : 64635029113 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

a9 49 % Fwion gq FEfifaa § 9 fem Iwm fen s 87

1O waddh (2) 4 @
@) wEdad (4) u=duHTE
Options:

645350114282, 1
E4E350114284. 2
EAE350114285. =
EAE350114256. 4

Question Number : 38 Question Id : 64635029114 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following 1s a search Engine?

(1) Flash (2) Fire fox
(3) Internet explorer (4) Google
Options:

E453501142587. 1
EAE350114288. 2
6453501142585 =
645350114230 4

Question Number : 38 Question Id : 64635029114 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fefafaa & @ =9 o< 93 27

(1) W™ (2) R B
(3) FewHT wAELE @ T
Options:

E4E3501142587. 1
EAE350114288. 2
6453501142589, =
645350114230 4

Question Number : 39 Question Id : 64635029115 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Joint Photographic Experts Group (JPEG) 15 used to compress

(1) Music (2) Video
(3) Image (4) Frame
Options:

6453501142591, 1
645350114232 2
E4E350114293. =
E45350114294. 4

Question Number : 39 Question Id : 64635029115 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SAEe BIEUTHS Taaued qu (31 0 § Sff) & 3w ot e o % forr fomm san 27

(1 = (2) it
@) @ %\
Options:

6453501142591, 1
645350114232 2
645350114233 =3
E4E350114294. 4

Question Number : 40 Question Id : 64635029116 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The use of Information Technology (IT) to improve the ability of Government to address the
needs of society 18 known as

(1) E — Business (2) E - Admimstration
(3) E — Governance (4) E - Marketing
Options:

645350114235, 1
E4E350114296. 2
E4E350114297. =
EAE350114295. 4

Question Number : 40 Question Id : 64635029116 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AT SEnfrhl (8 &) =1 a2 I S ges i AEwaEan, [ #1029 S B FEa § gUR F1 %
ot feran ST 2, wEeran 2

(1)  g-=amr (2)  F-99IEH

(3) -3 @) -

Options:



E45350114295. 1
6453501142396, 2
6453501142397, =
645350114255 4

Question Number : 41 Question Id : 64635029117 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following pollutants is included in the Air Quality Index in India?

(1) Carbon Dioxide (2) Chlorofluoro carbons
(3) Sulphur dioxide (4) Methane
Options:

645350114293, 1
E4E350114200. 2
E45350114201. =
E4535011420Z2. 4

Question Number : 41 Question Id : 64635029117 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freffiga & & fora ygwe #1 wia | 9 UE gEEE § wiEe e T A

(1) FEA SAFIES (2) FEARMAR] FleA
(3) Ho% SHIFUEE (4) #HieH
Options:

E4E3501142939. 1
645350114200 2
645350114201, 2
E4535011430Z. 4

Question Number : 42 Question Id : 64635029118 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The initiative to establish International Solar Alliance was jointly taken by

(1) USA and India (2) France and India
(3) Sweden and India (4) China and India
Options:

645350114202 1
E45350114204. 2
E4E350114205. =
645350114206, 4

Question Number : 42 Question Id : 64635029118 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



g @4 | (FEATE gl TarEed) i  ®UAT 29 9% ©9 J fE s fEE are

(1) 4 UH T AR 9Ra (2) %M T vrg
(3)  E&ieT it urg (4) =F i ¥Ha
Options:

645350114203, 1
645350114304, 2
645350114205, 2
E4E350114306, 4

Question Number : 43 Question Id : 64635029119 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following is / are missions under the national action plan on climate change?

(a) Sustaining the Himalayan ecosystem
(b) Sustainable forest management
(©) Strategic knowledge for climate change

Select the correct answer :

(1) (a) and (b) only (2) (b)only
(3) (b) and (c) only (4) (a) and (c) only
Options:

E4E350114207. 1
E4E350114208. 2
645350114209, =
645350114210 4

Question Number : 43 Question Id : 64635029119 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Sy aftadd F geg 8 age #d e % ol Fefafiga O o 9 e 2/37
(a) Tewrerdl wififetrfaeht @ &l w0 &

(b) Had aH J=EH

(c) Sierar uiEdd 3q WHifas STHemT

g2l I FHY

1)  Fad (a) AN () (2) % (b)

@) A (b) Al (o) @) % (a) AW ()
Options:

E453501142307. 1
E45350114208. 2
645350114209, =



E4E3501142100 4

Question Number : 44 Question Id : 64635029120 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s a biological method of disposal of Municipal Solid Waste?

(1) Land filling (2) Pulverization
(3) Composting (4) Shredding
Options:

E45350114211. 1
E4E35011421Z2. 2
6453501142132 =2
645350114214 4

Question Number : 44 Question Id : 64635029120 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

a7 4 9 FraifeerET 39w f AedmibeE @ 2

1) - (2) = (TAEsEH)
(3) P T I 4 afE
Options:

645350114211, 1
645350114212 2
E4E3501142132. =
E4E350114214. 4

Question Number : 45 Question Id : 64635029121 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Blue — baby syndrome can happen due to excess of which component in water?

(1) Caleium (2) Magnesium
(3) Nitrates (4) Pesticides
Options:

E45350114215. 1
645350114216, 2
645350114217 2
6453501142158 4

Question Number : 45 Question Id : 64635029121 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  Hoaad (2) HAAREH
B) AR @) A (Tfezge)
Options:

645350114215 1
E4EZ50114216. 2
E4E350114217. =
645350114218, 4

Question Number : 46 Question Id : 64635029122 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The medium of instruction in the vedic system of education has been,

(1)  Sanskrit (2) Pali
(3) Hindi (4) Urdu
Options:

6453501142139, 1
645350114320 2
645350114221 2
645350114322 4

Question Number : 46 Question Id : 64635029122 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

afess = ugla | e 1 "regw o

(1) =& (2) Tt

3 =l 4 3
Options:

E4E350114219. 1
EAE3501143200 2
E45350114321. =
645350114322 4

Question Number : 47 Question Id : 64635029123 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The methods of learming 1n Higher Education in India in the past consisted of

(1) Memoaorization, Brain Storming procedure and Seminar
(2) Memorization, Critical Analysis and Story telling

(3) Critical Analysis, Assienment Writing and Oral reports
(4) Story Telling, Brain storming procedure and Seminar
Options:

646350114323, 1

646350114324, 2

E4E350114325. 2
EAE350114326. 4

Question Number : 47 Question Id : 64635029123 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i Fiel § und # s=@ Fen & waia attrm i oty 8 miva @ 8

(1) a1 w1, feemash ufem (69 2fdn) qur afEn
(2) 91 w1, gHiETEE fSEeon qun wun aeA

() G oo, aegew dEA aw Hifgs fioid
(@)  wuEred, faemast ofem (39 @) au afgEr

Options:

645350114222 1
645350114324 2
645350114325 =
648350114326 4

Question Number : 48 Question Id : 64635029124 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Name the scheme which aims to create research ambience in the institutes by promoting
research in engineering sciences.

(1) E — Shooth Sindhu

(2) Entrepreneurship Development Cell
(3) Research Promotion Schemes (RPS)
(4) Institution Development Scheme

Options:

645350114527, 1
645350114328 2
645350114329
645350114330 4



Question Number : 48 Question Id : 64635029124 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
g2 HH-H1 A 2 e 3eva AR fagm 9 sia 1 sean do gEEEl | 9e i S 4T F#E
a?

()  §-9ufryg
(2)  gafar e wwE
(3)  SY9 GEE FSHTT, (AR 9 uH)
(4)  TEaH o FeE
Options:
646350114327, 1
646350114328, 2

645350114325 =2
645350114320 4

Question Number : 49 Question Id : 64635029125 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Inspire scholarship’ 1s intended by the funding agency

(1) Indian Council of Social Science and Research (ICSSH)

(2) University Grants Commission (UGC)

(3) Department of Science and Technology (DST)

(4) National Council of Education, Research and Traiming (NCERT)

Options:

645350114331 1
645350114332 2
648350114222 =
45350114224 4

Question Number : 49 Question Id : 64635029125 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FOYRR SR 1 fRT Uil O feredmor gan 27

(1)  HEdE 98 fage &t sHagr gfivg (98 9 ud w @)
(2) fowafEeaeE sHEE Adm (4 S )

@)  fagm «w denfEh e @ o )

@)  ugE Qeforr smaE it gfteorgfeg (o o § ar &)

Options:

645350114521, 1
645350114222 2
645350114322



E4E350114334. 4

Question Number : 50 Question Id : 64635029126 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

National Curriculum Framework was developed by which of the foll owing?

(1)  UGC (2) NCERT
(3) NCTE (4) CBSE
Options:

E4E350114335. 1
E4E350114336. 2
E45350114337. =
6453501143358 4

Question Number : 50 Question Id : 64635029126 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TP ureA==1 %HA® & FEior e e gr?

(1) gt (2) uAH g am &
@ A (4) i sfioy
Options:

E4E350114335. 1
E4E350114336. 2
E45350114337. =
6453501143358 4

FART II Bodo

Section Id : 646350556
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 100
Number of Questionsto be attempted: 100
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 6463501419
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 64635029127 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Volkskunde @EME@ET 9F FEESAEHM

Codes :

1. . f5 uerms

2. gHANd FHR F2TEI
3. Tl T
4. Tm e wEa

Options:

645350114339 1
645350114340 2
648350114241 =
45350114242 4

Question Number : 51 Question Id : 64635029127 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Volkskunde @EEET 9F FEESAEHM

Codes :

1. . f& uveras

2. gANd FHR ST
3. T =R
4. T e vag

Options:

645350114339 1
645350114340 2
48350114241 =
45350114242 4

Question Number : 52 Question Id : 64635029128 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘Primitive Culture’ T&=ia@ R GG :
Codes :

T. . &=

f—k

2. TR . ===

3. & w9 wmEs

4, TUH, UG, TESded

Options:

645350114343 1
648350114244 2
45350114245 =
645350114246, 4

Question Number : 52 Question Id : 64635029128 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘Primitive Culture’ TE=ia@t IR GG :
Codes :

T. [ &=

f—k

2. A wm =

3. & w9 wmEs

4, TUH, UG, TESded

Options:

645350114343 1
648350114244 2
45350114245 =
645350114246, 4

Question Number : 53 Question Id : 64635029129 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code STETEHTH TETEAE BT T8 HAEAT TEsT M A6 q6
Codes :

L. QR TYAAD AR AT e

2. AfEH wE SE A i M

3. 9. & uverEs 9R 9/ e Ean

4, T FAR TG AT &H T3

Options:

645350114247 1
645350114348 2
6453501143493 =
648350114250 4

Question Number : 53 Question Id : 64635029129 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Code STETEHT TETEE BT q9 AT TMEsT M MREAEHE q6d
Codes :

L. AR TYAAD AR AT e

2. HieA ®EA q8 A s e

3. 9. & uverEs 9R 9/ e fan

4. e FAR T A M T3

Options:

645350114247 1
645350114248 2
645350114349 =
645350114350 4

Question Number : 54 Question Id : 64635029130 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code TETAM T HEIAT MEST TE TREAEAE 96T ;

Codes :

1. Uged &9 T@EEN A Boro Folk Songs and Tales

2. UHT 9w WISl AR SHTET S6T 91y

3.  Hfedt W8T o1& 34 Folk Songs of the Bodos

4. "YW 9 A” A Study of Bodo Folk Songs

Options:

648350114351 1
45350114352 2
645350114352
645350114354 4

Question Number : 54 Question Id : 64635029130 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Code BT a9 THIAT TS T4 TREAEAE 949G :
Codes :
1. ¥9ew &9 7@ ™ Boro Folk Songs and Tales
2. UH'E 95 WETETS AR GHTET S8 91y
3.  Hfedt W8T o1& 34 Folk Songs of the Bodos
4.  HYOH T AR A Study of Bodo Folk Songs

Options:
645350114351 1



E4E350114352. 2
645350114353, =
645350114354 4

Question Number : 55 Question Id : 64635029131 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Al TR (A) AR SEF (R) @ 75 A1 TR Code STEM@AT 9194

JHEAE (A) AR HEEE ARGATSHR aled a@eH content, style 3R HhIRT
A AR T A

e (R) AT SEET TS SATATES AT SRS 3R WA STHTeRE] SEatET
[l |

Codes :
1. (A) 3R (R) g4t 74
2. (A) 3 & (R) 3 TR
3. (A) 3R (R) 3 &

4, (A) IR (R) A4 TR

Options:
4532501143551

E45350114356. 2
E45350114357. =
645350114358, 4

Question Number : 55 Question Id : 64635029131 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



e GHEE (A) AR SEF (R) @ & 71 TR Code TTem@AT 9194

JEAR (A) :  AAEH AEEIE AGATTER alfed S@me = content, style 3T HWHRT
AN AT T S

SEF (R)  HHEMAT SR AEES SATATESIAT SRS 3R A0 SATATeRE] SEaran
eIl

Codes :
1.  (A) 3R (R) gF=ar 7
2. (A) 3T (R) 3 IR
3. (A) 3 TR (R) o0 &

4. (A) IR (R) A== TR

Options:

645350114355 1
645350114356 2
648350114357 =
45350114258 4

Question Number : 56 Question Id : 64635029132 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T qHRAT (A) FR STEF (R) @ T4 A1 AR Code TEMEAT T4
JEEE (A) G AT SIET SeH JHT g |

WEE(R) ;. HEET 36 g g TR aREEE aharEr 9369 g SeE
ST BT |

Codes :
1.  (A) @R (R) 9=« 7
2. (A) ¥ (R) A== TR
3. (A) 3MAE (R) 3 IR

4. (A) @ TR (R) 3 =

Options:

645350114359 1
645350114360 2
645350114361 =2
45350114262 4

Question Number : 56 Question Id : 64635029132 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T qHRAT (A) FR STEF (R) @ T4 A1 AR Code TEMEAT T4
JEEE (A) G AT SIET SeH JHT g |

WEE(R) ;. HEET 36 g g TR aREEE aharEr 9369 g SeE
ST BT |

Codes :
1.  (A) @R (R) 9=« 7
2. (A) ¥ (R) A== TR
3. (A) 3MAE (R) 3 IR

4. (A) @ TR (R) 3 =

Options:

645350114359 1
645350114360 2
645350114361 =2
45350114262 4

Question Number : 57 Question Id : 64635029133 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code e TMe™E 2AM o€ 9 FEEE 5@ aEEAEAE —REEE-meE. I EHE
I A JEd

(a) ST
(b) =
(c)  drT
(d) TEA

Codes :
L. (1), (d), (c), ()
2. (0 (@, ), @
3. (a),(0), (), (b
4. (d), (), (b), (@)

Options:

645350114363 1
645350114364 2
45350114265 =
645350114266, 4

Question Number : 57 Question Id : 64635029133 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code e TMe™E 2AM o€ 9 FEEE 5@ aEEAEAE —REEE-meE. I EHE
I A JEd

(a) ST
(b) =
(c)  drT
(d) TEA

Codes :
L. (1), (d), (c), ()
2. (0 (@, ), @
3. (a),(0), (), (b
4. (d), (), (b), (@)

Options:

645350114363 1
645350114364 2
45350114265 =
645350114266, 4

Question Number : 58 Question Id : 64635029134 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code AEEAT TME@E A EOESRE RENRAEHE SAREM TR GemEEraE
L IE2EE N

(a) A Collection of Kachan Folk Tales and Rhymes

(b) Folk Literature of the Boros

(¢) T

(d) = g T
Codes :
L. (d), @), b))
2. (), (d),(a), (b
3. (a), () (d), (®)
4. (a), (0), (), (d)

Options:

645350114367 1
645350114368 2
645350114369
648350114270 4

Question Number : 58 Question Id : 64635029134 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Code AEEAT TME@E A EOESRE RENRAEHE SAREM TR GemEEraE
L IE2EE N

(a) A Collection of Kachan Folk Tales and Rhymes

(b) Folk Literature of the Boros

(¢) T

(d) = g T
Codes :
L. (d), @), b))
2. (), (d),(a), (b
3. (a), () (d), (®)
4. (a), (0), (), (d)

Options:

645350114367 1
645350114368 2
645350114369
648350114270 4

Question Number : 59 Question Id : 64635029135 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



TMerE gHE A= S @RI = 70 gA Code FE@AT T4 M= 994

-1 -1
(@) =F gemEm i 1973
(b)  @rFTRt 5= (i) 1972
(¢) femmar &w= @1y (i) 1968
(d) ety g (iv) 1924

Codes :
. (a)-(u1); (b)-(1); ()1 (d)-Gv)
2. (a-Q); (b)-(u); (e)~(iv); (d)—(11)
3. (a)y-Qu); (b)-(u); (0)-(v); (d)—1)
4. (@-Qv); (0)-(1); (e)-(1); (d)(ii)

Options:

645350114371 1
648350114372 2
45350114272 =
645350114274 4

Question Number : 59 Question Id : 64635029135 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TMerE gHE A= S @RI = 70 gA Code FE@AT T4 M= 994

-1 -1
(@) =F gemEm i 1973
(b)  @rFTRt 5= (i) 1972
(¢) femmar &w= @1y (i) 1968
(d) ety g (iv) 1924

Codes :
. (a)-(u1); (b)-(1); ()1 (d)-Gv)
2. (a-Q); (b)-(u); (e)~(iv); (d)—(11)
3. (a)y-Qu); (b)-(u); (0)-(v); (d)—1)
4. (@-Qv); (0)-(1); (e)-(1); (d)(ii)

Options:

645350114371 1
648350114372 2
45350114272 =
645350114274 4

Question Number : 60 Question Id : 64635029136 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



MermE e [-1 31t @I =t T A Code ITEEAT 79 ThAEE 99

R Esiea ||

(@) =R agEad W) wEEA

(b)  <foreprr argmaT (i) o ity A S
(¢) Tt TR 7= (1)  areft AT
(d) =fE w7 7= (v)  Iwom /@

Codes

. (a)(i); (b)-1v); (c)(1); (d)(ii)
2. (@)-v); (b)-(ii); (e)—(i); (d)—()
3. (a)-(i1); (b)), (c)-(iv); (d)—1)

4. (a)-(); (b)-(); (¢)-v); (d)—(1)

Options:

645350114375 1
6483501143276 2
645350114277 5
645350114378 4

Question Number : 60 Question Id : 64635029136 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



MermE e [-1 31t @I =t T A Code ITEEAT 79 ThAEE 99

R Esiea ||

(@) =R agEad W) wEEA

(b)  <foreprr argmaT (i) o ity A S
(¢) Tt TR 7= (1)  areft AT
(d) =fE w7 7= (v)  Iwom /@

Codes

. (a)(i); (b)-1v); (c)(1); (d)(ii)
2. (@)-v); (b)-(ii); (e)—(i); (d)—()
3. (a)-(i1); (b)), (c)-(iv); (d)—1)

4. (a)-(); (b)-(); (¢)-v); (d)—(1)

Options:

645350114375 1
6483501143276 2
645350114277 5
645350114378 4

Question Number : 61 Question Id : 64635029137 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



SHIET AT ORI Sl

Codes :
. ghaw
2. G = agaard

3. oA e 7'

4. UHE TE A

Options:

648350114279 1
45350114280 2
645350114281 =
6453501143582 4

Question Number : 61 Question Id : 64635029137 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

I AT GO S

Codes :
. s
2. G = aguHard

3. HEA wET 9™

4,  UHE T% aF

Options:

645350114379 1
645350114380 2
645350114381, =
645350114352 4



Question Number : 62 Question Id : 64635029138 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

a0 FifefEs e wrerarn sief
Codes :

. ol =gy

2. 9T argE
3. AT
4. W&l A

Options:
42350114252, 1

E4E350114384. 2
E45350114385. =
645350114256, 4

Question Number : 62 Question Id : 64635029138 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T FifEfa Trem s |E
Codes :

. i ey

2. fowraTy®
3. AR
4. HEl A

Options:

645350114382 1
6453501143584 2
645350114385 =
648350114256 4



Question Number : 63 Question Id : 64635029139 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Code TTETEAT TETEE BETESRA T HHEAT MMEST Ma TRIEEEE J5R

Codes :
1. ST 3R SEET T
2. TEA AR EUT wE
3. St R AR A T

4. 9 AR HA TS AR

Options:

645350114387 1
645350114388 2
6483501142589 =
645350114290, 4

Question Number : 63 Question Id : 64635029139 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Code TETEATT TETEE BTSRRI T2 AEEAT TMESt ME TREEEE 99

Codes :

1. ST AR S A
2. WhIEH AR w4 Send
3. O Il R A e

4. T AR HA TS ATER

Options:

645350114287 1
645350114388 2
6453501143589 =
645350114390 4

Question Number : 64 Question Id : 64635029140 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code AETAT TMEMEE EFEHRA a9 HHEAT Mastt Ta TREAE-E 99

Codes :
. 9 99 9E@T AR ST $HE 8
2. TEE AR SSHTA AT
3. SIEE S SE ARE 3

4. T e AW TR A

Options:

645350114291, 1
645350114392 2
645350114393 =
645350114394 4

Question Number : 64 Question Id : 64635029140 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Code FEEAH TMEM@AE EAEGRE I8 FEIAT TES TE TREEEE 969

Codes :
. 9= 9o 9@ A/ JH FHE T8
2. TTEET AR TEHTAC! A
3. SIUEE SR TR a9

4. 99 O A0 F8T

Options:

645350114391 1
648350114292 2
645350114292 5
645350114294 4

Question Number : 65 Question Id : 64635029141 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



MeEAH JHERAT (A) AR SEE (R) @ T 91 iR Code STERAT 9194 :
JERAE (A)  : TIEH g S0 YAETEE ST gerHT Gt St 9t gt |
SeM (R)  © AT a0 G TEr STt 9o oAt gt |
Codes :
1. (A) 374 (R) 3 TR
2. (A) 3 TR (R) 30 T
3. (A) I (R) HAFAET et

4. (A) FW (R) A= TR

Options:

645350114395 1
645350114396 2
648350114297 =
45350114298 4

Question Number : 65 Question Id : 64635029141 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



MeEAH JHERAT (A) AR SEE (R) @ T 91 iR Code STERAT 9194 :
JERAE (A)  : TIEH g S0 YAETEE ST gerHT Gt St 9t gt |
SeM (R)  © AT a0 G TEr STt 9o oAt gt |
Codes :
1. (A) 374 (R) 3 TR
2. (A) 3 TR (R) 30 T
3. (A) I (R) HAFAET et

4. (A) FW (R) A= TR

Options:

645350114395 1
645350114396 2
648350114297 =
45350114298 4

Question Number : 66 Question Id : 64635029142 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



M THEAT (A) A e (R) @ 76 A1 T4 Code STE@HT FoAT

TEEAE (A) ¢ JAAEE TMEE T AEEEE 9E PREEE SRSk i
T oA STeaEtat 34t 7T |

WEA(R)  : HEFT TS AW AEE g dea 99 qeiaEE b6 seE 363
qiErdT |

Codes :
1. (A) @ (R) A==t 3
2. (A) 3™ (R) gt =
3. (A) 3 e (R) 30 T

4. (A) 3 TR (R) 311 7

Options:

645350114299 1
645350114400 2
645350114401, =
648350114402 4

Question Number : 66 Question Id : 64635029142 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



M THEAT (A) A e (R) @ 76 A1 T4 Code STE@HT FoAT

TEEAE (A) ¢ JAAEE TMEE T AEEEE 9E PREEE SRSk i
T oA STeaEtat 34t 7T |

WEA(R)  : HEFT TS AW AEE g dea 99 qeiaEE b6 seE 363
qiErdT |

Codes :
1. (A) @ (R) A==t 3
2. (A) 3™ (R) gt =
3. (A) 3 e (R) 30 T

4. (A) 3 TR (R) 311 7

Options:

645350114299 1
645350114400 2
645350114401, =
648350114402 4

Question Number : 67 Question Id : 64635029143 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code ARTAM TMERE EF™ G@E SHEEHRE R SAREE SRS aee-EEt
ESIZEE

(@) i
(by & fopa ; fewman
(¢) @ fipan g
(d #A=
Codes :
L. (d), @), (), ®
2. (d),(@), (D), ©

3. (a),(b)(c), (@
4. (a),(b),(d). (¢

Options:
642235011440z, 1

E45350114404. 2
645350114405, =
645350114406, 4

Question Number : 67 Question Id : 64635029143 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code ARTAM TMERE EF™ G@E SHEEHRE R SAREE SRS aee-EEt
ESIZEE

(@) i
(by & fopa ; fewman
(¢) @ fipan g
(d #A=
Codes :
L. (d), @), (), ®
2. (d),(@), (D), ©

3. (a),(b)(c), (@
4. (a),(b),(d). (¢

Options:
642235011440z, 1

E45350114404. 2
645350114405, =
645350114406, 4

Question Number : 68 Question Id : 64635029144 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code BN TEMEE EHE AT SadhRE R SAREE B areE-EEr
q94ad

()  wrl

(b) EmfEfEE g

(c) Tum @@ =

() A

Codes :

. (d), (), @),
2. (d),(b),(c) (@)
3. (a),(d), (), ()
4. (a), (d), (c), (b)

Options:

45350114407 1
645350114403 2
645350114409
645350114410 4

Question Number : 68 Question Id : 64635029144 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Code BN TEMEE EHE AT SadhRE R SAREE B areE-EEr
q94ad

()  wrl

(b) EmfEfEE g

(c) Tum @@ =

() A

Codes :

. (d), (), @),
2. (d),(b),(c) (@)
3. (a),(d), (), ()
4. (a), (d), (c), (b)

Options:

45350114407 1
645350114403 2
645350114409
645350114410 4

Question Number : 69 Question Id : 64635029145 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



TeraE g™ fi-l S @RI @ 77" §FHE Code ATer@=T T4 TohAaaEr 9ed

-1 Faf-11
(@) foem =l () AymE 3@ = JEe
(b)) wemg-Fum W) AFg =
(©) s R Rewr A/ A (i)  HrerE fmm
(d) ary A SEEf g (v)  fEedr s s smae

Codes :

L. (@)D (b)—(1); (e)iv); (d)ii)
2. (a)-(u); (b)-); ()1); (d)-(1v)
3. (a); (b); (e)Hw); (d)~{11)
4. (a)-Q); (b)1); (c)H1i); (d)—(v)

Options:

402350114411, 1

646350114412 2

6453501144132 =
645350114414 4

Question Number : 69 Question Id : 64635029145 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TeraE g™ fi-l S @RI @ 77" §FHE Code ATer@=T T4 TohAaaEr 9ed

-1 Faf-11
(@) foem =l () AymE 3@ = JEe
(b)) wemg-Fum W) AFg =
(©) s R Rewr A/ A (i)  HrerE fmm
(d) ary A SEEf g (v)  fEedr s s smae

Codes :

L. (@)D (b)—(1); (e)iv); (d)ii)
2. (a)-(u); (b)-); ()1); (d)-(1v)
3. (a); (b); (e)Hw); (d)~{11)
4. (a)-Q); (b)1); (c)H1i); (d)—(v)

Options:

402350114411, 1

646350114412 2

6453501144132 =
645350114414 4

Question Number : 70 Question Id : 64635029146 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TeEEE g [ 5t -1 gt d/e 291 Code STe/@=T 99 e aed

-1 -1
(@) wm=E 1) T S
(B it = (i) oo @
(©) smET= ()  FftEy Toft s
(d) g s (v) syt s

Codes :
1. (a)-Qi); (b)-Q); ()-v); (d)11)
2. (a)-(); (0)-); (©)~u); (D-v)
3. (a)-@); ()-(m); {¢)—wv); (d)—1)
4. (a)-@); (b)—(m); (¢)—11); (D)-(v)

Options:

645350114415 1
645350114416 2
645350114417 =2
645350114413 4

Question Number : 70 Question Id : 64635029146 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TeEEE g [ 5t -1 gt d/e 291 Code STe/@=T 99 e aed

-1 -1
(@) wm=E 1) T S
(B it = (i) oo @
(©) smET= ()  FftEy Toft s
(d) g s (v) syt s

Codes :

1. (a)-Q1); (b)—1); (c)1v); (d)-(1u)
2. (- (b-); (¢)-m); (A-Ov)
3. (a)-); (b)—-(m); (o)-(v); (D—{(1)
4. (@) (b)—-(m); (0)—u); (A-Ov)

Options:

645350114415 1

645350114416 2

645350114417, 3
E4E350114418. 4

Question Number : 71 Question Id : 64635029147 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

MR a9 TEHEE SHTAN AT aTr St ;
Codes :

1. oot S

2. AYNEA EFTET 29

-y

3. faRr

4. HE[R



Options:

645350114419 1
648350114420 2
645350114421 =
645350114422 4

Question Number : 71 Question Id : 64635029147 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

MMM a9 THEE SHTAN AT ardr aaE@iat ;

Codes :

-y

Options:

645350114419 1
645350114420 2
645350114421 =
648350114422 4

Question Number : 72 Question Id : 64635029148 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

MEMAH F9 TE [SeEH EERRA TS 927 THIEH TS e @ s @ie

Codes :
1. /gl T AT
2. I OHT EAT
3. M

4. <A foRar ; femmEr

Options:



E45350114423. 1
645350114424 2
645350114425 =
645350114426 4

Question Number : 72 Question Id : 64635029148 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

MEMAH F9 TE [SeEH EERRA TS 927 THIEH TS e @ s @ie

Codes :
1. /gl T AT
2. I OHT EAT
3. e

4. <A foRar ; femmEr

Options:

645350114423 1
648350114424 2
E4E5350114425 =
645350114426, 4

Question Number : 73 Question Id : 64635029149 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Code FAETAT MEMEE 4 THEIET TEST T TRIGATEAE T9
Codes :

1.  ATae oeg 3 e

2. HEM SgHART AR AT Hie
3. TR FHR 9@ ART I T
4. AfEA g6 9 AR TRGEET

Options:
645350114427 1



EAE350114428. 2
645350114425 =
645350114430 4

Question Number : 73 Question Id : 64635029149 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Code FETAR e T9 HHEIAT AT TE TREAEETE 69
Codes :

1. AFAA 90 9

2. I FEHARN AR AT HIie

3. TR FHR F@ ART F T

4. AT goe 99 AT SRR

Options:

645350114427 1
645350114428 2
648350114429 =
45350114420 4

Question Number : 74 Question Id : 64635029150 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Code FAETAT MEMEE F9 THEET TEST T TRGAEAE 99

Codes :

1. QEHETST AT AR @R §al QEem

2. WEAHETSIE AT 3R RER e JTaee

3. GFEHEETR A 3R & S AHEE-aE GEi

4. FHETETETR AME AR A st g S qrei



Options:

645350114431 1
648350114432 2
45350114422 =
645350114424 4

Question Number : 74 Question Id : 64635029150 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Code ATETTATT TMEMM =6 H=EAT AT TE THEARATE 99

Codes :

. FHEHEETR A AR ERe gal araie

2. FIEHEERTR AT 3R BERE e

3. AAHERTR AT 3R & S AHEEAEE Qe

4,  FEAHIETESTR ATHTS SR T ST g6 S Jreeme

Options:

645350114431 1
645350114432 2
648350114422 =
645350114424 4

Question Number : 75 Question Id : 64635029151 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TE™H THRAM (A) - SeE (R) B & =1 T Code TTERAT 9194

TEEAE (A) : e TIH a0 T=00E JAEhiE a8 g s Saras g
AT T T4 |

S (R) . HERT AUREE! SRR 50 g9 GHEE G 9T TS AR
9T FIEHT |

Codes :
. (A) 376 (R) &1 A
2. (A) 3 TR (R) 3 &
3. (A) 9 (R) 94T 78

4. (A) AW (R) HFA4ET T

Options:

645350114435 1
648350114438 2
45350114427 =2
645350114428 4

Question Number : 75 Question Id : 64635029151 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TE™H THRAM (A) - SeE (R) B & =1 T Code TTERAT 9194

TEEAE (A) : e TIH a0 T=00E JAEhiE a8 g s Saras g
AT T T4 |

S (R) . HERT AUREE! SRR 50 g9 GHEE G 9T TS AR
9T FIEHT |

Codes :
. (A) 376 (R) &1 A
2. (A) 3 TR (R) 3 &
3. (A) 9 (R) 94T 78

4. (A) AW (R) HFA4ET T

Options:

645350114435 1
648350114438 2
45350114427 =2
645350114428 4

Question Number : 76 Question Id : 64635029152 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



MEEH HEAE (A) AR AeE (R) & 74 1 R4 Code ATEEAT 919G ¢

JEAR (A) © 90 T AR BARE AT aed T e G e e
TR |

SEF (R) ¢ BEAT 90 FRERER AR aied 79 g SReEEE s g=
A |

Codes :
1. (A) 34 (R) 3T TR
2. (A) 3 IRR (R) 311 7=
3. (A) I (R) HAET et

4. (A) ¥R (R) 9FA« TR

Options:

645350114429 1
645350114440 2
645350114441 =
648350114442 4

Question Number : 76 Question Id : 64635029152 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



MEEH HEAE (A) AR AeE (R) & 74 1 R4 Code ATEEAT 919G ¢

JEAR (A) © 90 T AR BARE AT aed T e G e e
TR |

SEF (R) ¢ BEAT 90 FRERER AR aied 79 g SReEEE s g=
A |

Codes :
1. (A) 34 (R) 3T TR
2. (A) 3 IRR (R) 311 7=
3. (A) I (R) HAET et

4. (A) ¥R (R) 9FA« TR

Options:

645350114429 1
645350114440 2
645350114441 =
648350114442 4

Question Number : 77 Question Id : 64635029153 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Code FEEAM e FHMENR FET FEEERE FEFHE IHEE W qrea-raE!
99

(@ A

by Fafr
(¢  EEAER
() ==M

Codes :

1. (a),(c), (b), (d
2. (a), (), (d), (b)
3. (e).(d),(b), (@)
4. (0 (d),(a), (b)

Options:

645350114442 1
645350114444 2
645350114445 =
645350114446 4

Question Number : 77 Question Id : 64635029153 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code FEEAM e FHMENR FET FEEERE FEFHE IHEE W qrea-raE!
99

(@ A

by Fafr
(¢  EEAER
() ==M

Codes :

1. (a),(c), (b), (d
2. (a), (), (d), (b)
3. (e).(d),(b), (@)
4. (0 (d),(a), (b)

Options:

645350114442 1
645350114444 2
645350114445 =
645350114446 4

Question Number : 78 Question Id : 64635029154 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code AEEAT TEM™EM T YT FEE®RA AEHHE SARHHE ST G-t
9=

(a) @AM Form
(b)  THATH A
(¢)  TARRA A

(d)y Tawra @am
Codes :
1. (d), (c), (b), ()
2. (d),(c), (), (b)
3. (0, (), @
4. (b),(d), (@), (c)

Options:

645350114447 1
645350114448 2
645350114449 =
645350114450 4

Question Number : 78 Question Id : 64635029154 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code AEEAT TEM™EM T YT FEE®RA AEHHE SARHHE ST G-t
9=

(a) @AM Form
(b)  THATH A
(¢)  TARRA A

(d)y Tawra @am
Codes :
1. (d), (c), (b), ()
2. (d),(c), (), (b)
3. (0, (), @
4. (b),(d), (@), (c)

Options:

645350114447 1
645350114448 2
645350114449 =
645350114450 4

Question Number : 79 Question Id : 64635029155 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e BAE M-I 5 ™11 & TRE g1 Code TEEAT 79 Th—a@T IE

a1 I
(@) fomm @ 0 areh e
(b) == 7w =3 (i)  FrEm sReEE
(©) =ity = TR (i)  Iepremm FEHRE 3G
ERCICIE]
(d)  wwEr JmmE V) 2 af @& =

Codes :
L (a)-); (b)-v); ()-(); (d)—(1)
2. (a0 (B)-v); (o)-(ui); (d)-(11)
3. (a)-@); (b)1); (0-v); (d)-u)
4. (a)-(); (B—1); (0)-ii1); (d)-v)

Options:

645350114451, 1
645350114452 2
645350114453 =
645350114454 4

Question Number : 79 Question Id : 64635029155 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e BAE M-I 5 ™11 & TRE g1 Code TEEAT 79 Th—a@T IE

a1 I
(@) fomm @ 0 areh e
(b) == 7w =3 (i)  FrEm sReEE
(©) =ity = TR (i)  Iepremm FEHRE 3G
ERCICIE]
(d)  wwEr JmmE V) 2 af @& =

Codes :
L (a)-); (b)-v); ()-(); (d)—(1)
2. (a0 (B)-v); (o)-(ui); (d)-(11)
3. (a)-@); (b)1); (0-v); (d)-u)
4. (a)-(); (B—1); (0)-ii1); (d)-v)

Options:

645350114451, 1
645350114452 2
645350114453 =
645350114454 4

Question Number : 80 Question Id : 64635029156 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



MeraE e[ Fi- St A1l gt TR 2Fm Code STE™AT T4 fh-aat 99

et eI

(@) e gm O g et e
(b ez (1)  dam SEmEtT e
() A=t () il ST A
(d) & wifer (v) gt e

Codes :
L. (a)-); (b)~v); (c)-(); (d)~1)
2. (a)-Q); (0)Hiv); (e)-(i); (d)—ni)
3. (a)-(u); (b)-); (©)-v); (A1)
4. (a-(u); (B)-0); (©-w); (D-1v)

Options:

645350114455 1
645350114456 2
648350114457 =
45350114458 4

Question Number : 80 Question Id : 64635029156 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



MeraE e[ Fi- St A1l gt TR 2Fm Code STE™AT T4 fh-aat 99

et eI

(@) e gm O g et e
(b ez (1)  dam SEmEtT e
() A=t () il ST A
(d) & wifer (v) gt e

Codes :

L. (a0 (b)—v); (¢)-ir); (d)—11)
2. (aH); (b)—v); (e)-(i); (d)-(iD)
3. (a)-(); (b)-1); (©)-wv); (d)—n)
4. (a)-(u); (B)-); (©)-1w); (d)-Gv)

Options:

645350114455 1

645350114456 2

645350114457 =
6453501144558 4

Question Number : 81 Question Id : 64635029157 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘Poetry is the criticism of life’ AT HIR J&HIA
Codes :
1.  Mathew Arnold
2. Johnson
3. Colendge
4. 'W. Wordsworth

Options:
645350114459, 1
645350114460, 2



E4E350114461. =
645350114462 4

Question Number : 81 Question Id : 64635029157 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Poetry 1s the criticism of life’ AT 91 @Tﬁ? :
Codes :

l. Mathew Arnold

2

Johnson
3. Colenidge

4. W. Wordsworth

Options:

645350114459 1
645350114460 2
646350114461 =
45350114462 4

Question Number : 82 Question Id : 64635029158 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e ‘giert st SEf
Codes :
1. @i
2. WEEe
3 THAMME
4.  IOEAE
Options:

E45350114463. 1
6453501144684 2
645350114465 =
645350114466 4

Question Number : 82 Question Id : 64635029158 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TEME ‘g #AitEE e

Codes :
1. =R
2. @fEEA
3. EHYHEE
4. 9@Ad
Options:

645350114463, 1
645350114464 2
645350114465, 5
E4EZ50114466, 4

Question Number : 83 Question Id : 64635029159 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Code FERAT MEAE 2T T AT Afed SerEsH=™E st TE TRt

ESIEEE I

Codes :

1. TIRATH NS 3R S B a6 e

2. TTRATH T SR ST FrEE SRR

3. TR T SR S SR 518 EeEe
4, TR TEITY AR GAATEE G TR G

Options:

645350114467 1
645350114468 2
648350114469 =
45350114470 4

Question Number : 83 Question Id : 64635029159 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code FTERAT TMEMEE EFME T TS Alfed aEESHEEE st Th TRaakATE

ESIEEE I

Codes

1. TIRATH NS 3R S B a6 e

2. TTRATH T S AN e A

3. TR T SR S SR 518 EeEe
4, TR TS AR gAATEET Gt TR @

Options:

645350114467 1
645350114468 2
648350114469 =
45350114470 4

Question Number : 84 Question Id : 64635029160 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Code ATETAT TMETEE EHME JAATE MERAEGRE aMiad TEst e IREarg-raar aad

Codes :

-

foTteeTa 3TRT g4

2. The=iEm g o uiees
URTSI T J7 3R St
4. TEH T OAR AL

-

Options:

645350114471 1
645350114472 2
648350114472 =
45350114474 4

Question Number : 84 Question Id : 64635029160 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code AETIAT LM BHME JAATS MSRATRRA dTfad &St e TREaaaar 9ad

Codes :

1. fofers st g|

2. The=iEm g e o e
UFeTSTE AT J9 ARSIl
4. TEH F AR AFREA

bt

Options:

645350114471 1
648350114472 2
E4E350114472 =
645350114474 4

Question Number : 85 Question Id : 64635029161 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T THRATE (A) AR SEH (R) @ 7 71 AR Code TTETEAT 964 ¢

qREEAE (A) ;0 Ted g SEERRE S SEEE gEaEie e Jw
AT Aol HaRThRAT T IEEAe |

WEM(R) ¢ HEET TEE gAerse 9T g9 AT A AR S S
RIS S |
Codes :
1. (A) 3 7 (R) 310 M=
2. (A) 3 TR (R) 31 T
3. (A) ¥E (R) g4t 4

4. (A) IR (R) Hi== TR
Options:
645350114475 1
645350114476 2
6453250114477 =2
645350114475, 4



Question Number : 85 Question Id : 64635029161 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T THRATE (A) AR SEH (R) @ 7 71 AR Code TTETEAT 964 ¢

qREEAE (A) ;0 Ted g SEERRE S SEEE gEaEie e Jw
FE ATt HERTh AT HEEAN |

WEA(R)  :  HHFAT TEH JAEH GFEET 99 GeiT A AR S=r St
RRHTETEAT BT |

Codes :
1. (A) 3 7 (R) 310 M=
2. (A) 3 TR (R) 31 T
3. (A) ¥E (R) g4t 4
4. (A) IR (R) Hi== TR

Options:

645350114475 1
645350114476 2
45350114477 =2
645350114473 4

Question Number : 86 Question Id : 64635029162 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



MEEH THAE (A) IR eF (R) @ 76 A1 TR Code STEEHAT 919G

IREAE (A) ;. TE TEE @ TR TEE T8 AAEEET e e
TEHA |

SRR (R)  : OFET S g9 MEET IEEE JAEEhREr G qeE SR |
Codes :

1. (A) 3 (R) A== TR

2. (A) ¥R (R) gt T

3. (A) = AF (R) 30 MR

4. (A) 3R (R) o1 &

Options:

648350114479 1
45350114420 2
645350114481, 5
645350114452 4

Question Number : 86 Question Id : 64635029162 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



MEEH THAE (A) IR eF (R) @ 76 A1 TR Code STEEHAT 919G

IREAE (A) ;. TE TEE @ TR TEE T8 AAEEET e e
TEHA |

SRR (R)  : OFET S g9 MEET IEEE JAEEhREr G qeE SR |
Codes :

1. (A) 3 (R) A== TR

2. (A) ¥R (R) gt T

3. (A) = AF (R) 30 MR

4. (A) 3R (R) o1 &

Options:

648350114479 1
45350114420 2
645350114481, 5
645350114452 4

Question Number : 87 Question Id : 64635029163 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Code TTERA Mm@ gA™ Femawds Iomm gaaEaied & stamatem A=
STATEEA FRY Ara-Taar aed

(a)  HifeEEdT
(b)  ArErETH

(¢ ¥ W
@)  FeEEER

Codes :

L. (), (b), (d), (a)
2. (b),(c), (d), (a)
3. (b)), () (@)
4. (d), D), (c). (@)

Options:
423501144532, 1

EAE350114454. 2
645350114485, =
645350114456, 4

Question Number : 87 Question Id : 64635029163 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code TTERA Mm@ gA™ Femawds Iomm gaaEaied & stamatem A=
STATEEA FRY Ara-Taar aed

(a)  HifeEEdT

(b)  ArErETH

(¢ ¥ W

@)  FeEEER
Codes :

L. (), (b), (d), (a)
2. (b),(c), (d), (a)
3. (b)), () (@)
4. (d), D), (c). (@)

Options:
423501144532, 1

EAE350114454. 2
645350114485, =
645350114456, 4

Question Number : 88 Question Id : 64635029164 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code AEEAT TMEMEE THEM FRENEREA ST TREA™E Gied RETieEEwE
AR WIS FEEAEE 96y

() UH. R Fwi
(b) ¥R U. T 90T
(¢ AR %2R

(d v g

Codes :

L. (a), (b), (d), (c)
2. (b),(c)(d), ()
3. (d).(c)(a) (b
4. (d), (@), (c), (®

Options:

645350114487 1
6453501144588 2
645350114459 =
6453501144930 4

Question Number : 88 Question Id : 64635029164 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code AEEAT TMEMEE THEM FRENEREA ST TREA™E Gied RETieEEwE
AR WIS FEEAEE 96y

(a) ud. . Fois
(b) ¥R U. T 90T
(c) R U2

(d) = gEA

Codes :

e

(a), (b), (d), (c)
2. (b),(c)(d), ()
3. (d).(c)(a) (b
4. (d), (@), (c), (®

Options:

645350114487 1
6453501144588 2
645350114459 =
6453501144930 4

Question Number : 89 Question Id : 64635029165 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TerEE g™ A= A "R @ e gAE Code IEEAT 719 fth=mamat 9ad

-1 a1
(@) Aty anfesT sEEm 1) a3
(b)  serERE METE ATEETE (i) e MR 7=

()  sead=t arfes sEEFm (1) e
(d) =iy aifesT s 1v) ST

Codes :
L (a)-(u); (D)-(v); (c)-Q); (d)—(1)
2. (a(u); (-1 (—v); (d)-()
3. (a)-(v); (b)-(iid); (e)—(ir); (d))
4. (a-Q); (b)-Q); (0)-v); (d)-i1i)

Options:

645350114491 1
645350114492 2
645350114492
645350114494 4

Question Number : 89 Question Id : 64635029165 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



TerEE g™ A= A "R @ e gAE Code IEEAT 719 fth=mamat 9ad

-1 a1
(@) Aty anfesT sEEm 1) a3
(b)  serERE METE ATEETE (i) e MR 7=

()  sead=t arfes sEEFm (1) e
(d) =iy aifesT s 1v) ST

Codes :
L (a)-(u); (D)-(v); (c)-Q); (d)—(1)
2. (a(u); (-1 (—v); (d)-()
3. (a)-(v); (b)-(iid); (e)—(ir); (d))
4. (a-Q); (b)-Q); (0)-v); (d)-i1i)

Options:

645350114491 1
645350114492 2
645350114492
645350114494 4

Question Number : 90 Question Id : 64635029166 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



TeEE T AR-1 & ™11 ©f TR 911 Code TE™AT 719 @ 999 ;@

-1 I
(a) G.B. Shaw (i) Candida
(b) Hennk Ibsen (1) Ghosts
(¢) Thomas Hardy (1i1) The Mayor of Casterbridge
(d) T.S.Elot (iv) Murder in the Cathedral

Codes :

L. (av); (b)), (c)-(1); (1)
2. (au); (b)—av); (), (d)iin)
3. (a)-() (b)—m); (e)Hu); (d)-(v)
4. (a)-(1); (b)—); (o)-(u); (d)-(1v)

Options:

42350114495, 1

646350114496 2

645350114457, =
6453501144395 4

Question Number : 90 Question Id : 64635029166 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TeEE T AR-1 & ™11 ©f TR 911 Code TE™AT 719 @ 999 ;@

-1 I
(a) G.B. Shaw (i) Candida
(b) Hennk Ibsen (1) Ghosts
(¢) Thomas Hardy (1i1) The Mayor of Casterbridge
(d) T.S.Elot (iv) Murder in the Cathedral

Codes :
L. (@-(v); (0)-(m); (c)-(1); (1)
2. (a)-u); (B)-v); ()-@); (D)
3. (@ (b)-); ()—w); (d-av)
4. () (b)-); (¢)-u); (d)-av)

Options:
42350114495, 1

E4E350114496. 2
645350114457, =
6453501144395 4

Question Number : 91 Question Id : 64635029167 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘Comparative Literature’ FEad@l g7 AERHEE :

Codes :
1. SHEA
2. HUS wHes
3. e
4. FFH
Options:

6453501144595, 1
645350114500 2



E45350114501. =
645350114502, 4

Question Number : 91 Question Id : 64635029167 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Comparative Literature” TEEET TR ATETASHEHT :

Codes :
] STHEA
2. WS AFes
3. W
4. FFH
Options:

E45350114499. 1
645350114500, 2
645350114501, 2
645350114502 4

Question Number : 92 Question Id : 64635029168 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AT JET A1 ST
Codes :

1. ST g
2. B A g

3. FEHEA g
4. WIS {

Options:

645350114503 1
648350114504 2
645350114505 =2
645350114506, 4

Question Number : 92 Question Id : 64635029168 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

AT JEr A1 S
Codes :

1. S
2. EE AEEE g

3. FEHdH g
4. QIS qW

Options:

645350114502 1
645350114504 2
645350114505 =
645350114506 4

Question Number : 93 Question Id : 64635029169 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Code AEEAN @M §F™ X TR FHAEANEHR FATSIH HHAAFA Wi T
TG 9T

Codes :

1. Keats 3R Johnson
2. D.G. Jones IR M. D. Dimic
3. M.D. Dimic 3R Mathew Arnold

4.  Mathew Armold 3 R. N. Tagore

Options:

645350114507, 1
645350114508 2
645350114509 =
645350114510 4

Question Number : 93 Question Id : 64635029169 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code AREAN @M §FM™ X TR FHAEHEN FATSAH HAAHN Wi T
TEE 9e

Codes :

1. Keats 3 Johnson
2. D.G. Jones I M. D. Dimic
3.  M.D. Dimic 3R Mathew Arnold

4.  Mathew Armold 3 R. N. Tagore

Options:

645350114507 1
645350114508 2
648350114509 =
45350114510 4

Question Number : 94 Question Id : 64635029170 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Code TEEAH MeTdd §HF FR MR TEEREAT TeHT SHAERR Hed Taa-et

R3ICEC

Codes :

(=

R. N. Tagore 3R Francois Jost
2. John Flecher 3R Shakespeare
3. John Flecher 3 Francois Jost

4.  Robert Browning 3 Johnson

Options:

645350114511 1
648350114512 2
645350114512 5
645350114514 4

Question Number : 94 Question Id : 64635029170 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code FEEAM TME@E EFME TR FERNGHR TEEREHT TEHT FAENR Ted TEa-a]

R EC I

Codes :

1. R.N.Tagore 3 Francois Jost
2. John Flecher 3R Shakespeare
3. John Flecher 3 Francois Jost

4.  Robert Browning W Johnson

Options:

648350114511, 1
645350114512 2
645350114512 =
645350114514 4

Question Number : 95 Question Id : 64635029171 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e TR (A) AR AR (R) G e 771 T Code TTETEAT A9 ¢

RIA™ (A) : Influence 3™ Reception GHET I[N TS ATRTISGAT
AT FE |

SER(R) TR SR G 3 Seed! SEEEE TE Qe SREr |
Codes :

1. (A) 3R (R) H4T 7

2. (A) IR (R) =T TS

3. (A) I TE (R) o1 IR

4. (A) 3 TR (R) =0 &

Options:

645350114515 1
645350114516 2
645350114517 =
645350114518 4



Question Number : 95 Question Id : 64635029171 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e HIHE (A) SR SEE (R) @ e 71 T Code ATET@-T A9 ¢

gERAE (A) : Influence AR Reception FRMET TN AR STERESTHAET
qHE A |
WEA(R)  HEFT SUE gAeE § e aereaEt A Qe SR |
Codes :
1. (A) IR (R) "= 7
2. (A) W (R) =4l TRFT
3. (A) 3 TE (R) o TR

4. (A) 3 TR (R) =0 &

Options:

£4E350114515 1
45350114516 2
645350114517 5
645350114518 4

Question Number : 96 Question Id : 64635029172 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TETAH AT (A) IR e (R) @ 76 A1 9017 Code ITEMEAT T169

TR (A)  :  ARAN FEAET e TEIE ST AT At 5 S sgamn
TS FEEGAEN @ G |

WM (R) ¢ AR Aoz e aRai BEaEeEt S9is SAs 38 S

. . = .
SHTAT ‘E'Héﬁ?‘f R RIE N

Codes :
1. (A) 3= (R) 3 TR=1
2. (A) ;AR (R) o &
3. (A) IR (R) HHAET T

4. (A) 9= (R) O TR

Options:

45350114519, 1
645350114520, 2
645350114521 =
645350114522 4

Question Number : 96 Question Id : 64635029172 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



TETAH AT (A) IR e (R) @ 76 A1 9017 Code ITEMEAT T169

TR (A)  :  ARAN FEAET e TEIE ST AT At 5 S sgamn
TS FEEGAEN @ G |

WM (R) ¢ AR Aoz e aRai BEaEeEt S9is SAs 38 S

. . = .
SHTAT ‘E'Héﬁ?‘f R RIE N

Codes :
1. (A) 3= (R) 3 TR=1
2. (A) ;AR (R) o &
3. (A) IR (R) HHAET T

4. (A) 9= (R) O TR

Options:

45350114519, 1
645350114520, 2
645350114521 =
645350114522 4

Question Number : 97 Question Id : 64635029173 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Code B TMEEME AT TEERRTCRIE TSTEAEE TeFEES HiK aeaEmEat
LS 1E2RE K

(@) TP e
b) FARw

(¢)  9&9 HRIFIY
(@ SR

Codes :

1. (e), (), (a), (b)
2. (¢), (@), (D, D
3. (b)), @),
4. (c), (b), (), (d)

Options:

45350114522 1
645350114524 2
645350114525
645350114526 4

Question Number : 97 Question Id : 64635029173 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Code B TMEEME AT TEERRTCRIE TSTEAEE TeFEES HiK aeaEmEat
LS 1E2RE K

(@) TP e
b) FARw

(¢)  9&9 HRIFIY
(@ SR

Codes :

1. (e), (), (a), (b)
2. (¢), (@), (D, D
3. (b)), @),
4. (c), (b), (), (d)

Options:

45350114522 1
645350114524 2
645350114525
645350114526 4

Question Number : 98 Question Id : 64635029174 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Code ATEEAM TEEE EHME TGEEAE TGUE [OSEHRE TSTHAwE TS il
AETEAEE 9O

(a) TG THEEE TR

(b) T TS
(¢)  TEM a% geTS
(d) T A

Codes :

L. (a), (d), (c), ()
2. (a),(0), ), (®)
3. (c),(d)(a),(®)
4. (d), (@) (c), (b)

Options:

645350114527 1
645350114528 2
645350114529
648350114520 4

Question Number : 98 Question Id : 64635029174 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Code ATEEAM TEEE EHME TGEEAE TGUE [OSEHRE TSTHAwE TS il
AETEAEE 9O

(a) TG THEEE TR

(b) T TS
(¢)  TEM a% geTS
(d) T A

Codes :

L. (a), (d), (c), ()
2. (a),(0), ), (®)
3. (c),(d)(a),(®)
4. (d), (@) (c), (b)

Options:

645350114527 1
645350114528 2
645350114529
648350114520 4

Question Number : 99 Question Id : 64635029175 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



TerEE BHE [-1 5 -1 @t T e[ Code aERAT T4 MG 94

a1 M-I

(a) e 1) =rfers AefrE
(b) o faemefy fet (i) faeemaff sgrar
(¢)  ratfy e (i) ofg= 72

(d) Faff (V)  fgregff sgeam

Codes :

L. (a)-(Q1); (b)-(i1); (c)-iii); (d)}-(v)
2. (a)-(); (b)-n); (e)v); (1)
3. (a)-(i1); (b)-(); (0)—-v); (d)—11)
4. (@), (b)-(1); (c)-(v); (d)—~1)

Options:

646350114531, 1

646350114532 2

645350114533 =
645350114524 4

Question Number : 99 Question Id : 64635029175 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



TerEE BHE [-1 5 -1 @t T e[ Code aERAT T4 MG 94

a1 M-I

(a) e 1) =rfers AefrE
(b) o faemefy fet (i) faeemaff sgrar
(¢)  ratfy e (i) ofg= 72

(d) Faff (V)  fgregff sgeam

Codes :

L. (a)-(Q1); (b)-(i1); (c)-iii); (d)}-(v)
2. (a)-(); (b)-n); (e)v); (1)
3. (a)-(i1); (b)-(); (0)—-v); (d)—11)
4. (@), (b)-(1); (c)-(v); (d)—~1)

Options:

646350114531, 1

646350114532 2

645350114533 =
645350114524 4

Question Number : 100 Question Id : 64635029176 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



TerEE 5™ &= 3 f-11 =@t TREeEE Code STEEAT 719 ThA-madt a9

-1 IR
(a) 2011 () wpema e
(b) 2013 (i) Foafy ammE
(¢) 2010 (i) ey
(d) 2008 (v) =T

Codes :

L. (a)-(1); (b)1); (e)11); (d)-(v)
2. (&), (b)-1); (c)Hiv); (d)—(11)
3. (a1, (b)-i); (e)-av); (d)—1)
4. (a)-(it); (b)-v); ()-(1); (1)

Options:

646350114535, 1

646350114536 2

645350114527 5
645350114525 4

Question Number : 100 Question Id : 64635029176 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



TerEE 5™ &= 3 f-11 =@t TREeEE Code STEEAT 719 ThA-madt a9

-1 IR
(a) 2011 () wpema e
(b) 2013 (i) Foafy ammE
(¢) 2010 (i) ey
(d) 2008 (v) =T

Codes :

L. (a)-(1); (b)1); (e)11); (d)-(v)
2. (&), (b)-1); (c)Hiv); (d)—(11)
3. (a1, (b)-i); (e)-av); (d)—1)
4. (a)-(it); (b)-v); ()-(1); (1)

Options:

646350114535, 1

646350114536 2

645350114527 5
645350114525 4

Question Number : 101 Question Id : 64635029177 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

METEE EFERRH 9d T=ad T4 SRR SeEa SeahwEd 96

Codes :
1. =A
2. AT
3. T
4. 1A T
Options:

E45350114539. 1



E45350114540. 2
645350114541, =
64535011454% 4

Question Number : 101 Question 1d : 64635029177 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e EHESEH 94 JF9aT 1 G SeeEer SeasEe 99

Codes :
1. =A
2. AT
3. T
4. 71 AR IR
Options:

645350114529 1
E45350114540. 2
E45350114541. =
64535011454%. 4

Question Number : 102 Question 1d : 64635029178 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

An Outline Grammar of the Kachari (Dimasa) Language’ TS ORI

Codes :
1. Cowan
2. G. Compbell
3. Rev. W. C. Dundas

4. L. A Skrefshrud
Options:
645350114543 1
645350114544 2
645350114545, =5
645350114546 4

Question Number : 102 Question Id : 64635029178 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



*An Outline Grammar of the Kachari (Dimasa) Language’ =i oRRRET ¢

Codes :
1. Cowan
2. G. Compbell
3. Rev. W.C. Dundas

4. L. A. Skrefshrud
Options:
645350114543 1
646350114544 2
645350114545 =
462350114546 4

Question Number : 103 Question Id : 64635029179 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Code STETIAM T 4T &9 sl MEMT M-l T T Tt qe .
Codes :

1. @@ 99 AW qiEr T4

2. TP [T AR AGHEAT 99

3. g% 79 un G |

4. 9T 9 AR IS 99

Options:

645350114547 1
645350114548 2
645350114549 =
645350114550 4

Question Number : 103 Question 1d : 64635029179 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code ETETAT 92 T 9 TSI TG Mt Mt T TEE 9
Codes :

. & 9 AR qien a9

2. 9T T@ AW FGHE T4

3. 9 9 AW Eer |

4.  FT 9 AR 3@ 1@

Options:

645350114547 1
645350114548 2
648350114549 =
45350114550 4

Question Number : 104 Question Id : 64635029180 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Code STEEAM TMEMEA ¢ HFEGT 9 M@ AE SRATEENE TEA = TOSAE"

I - 11 = A = | R B ) e M 1A 3 | A A | )

b~

AT 4T, 39 3 4 fS=2rn semeEa aeEEE

3. AqTESTH 34, [T SR g S e

V| 1) o O £ | e s 0 A | G AR S | G

Options:

645350114551, 1
645350114552 2
645350114553 =
645350114554 4

Question Number : 104 Question 1d : 64635029180 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code STEEAM TMEMEA ¢ HFEGT 9 M@ AE SRATEENE TEA = TOSAE"
ESIZEE N

Codes :

I - 11 = A = | R B ) e M 1A 3 | A A | )

b~

AT 4T, 39 3 4 fS=2rn semeEa aeEEE

3. AqmEAre 341, [T SR g SreEer e

VI | 1 o e O | | s 0 A | G AR S | G

Options:

645350114551 1
645350114552 2
645350114553 =
645350114554 4

Question Number : 105 Question 1d : 64635029181 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TEME THEAE (A) AR TR (R) @ & =1 7= Code STEEAT 99 ¢
qHEAM (A) : 9 T4 ST AREE At T A S
SeM (R)  : HEET aE ST ST TRET Qe e {6
Codes :

1. (A) 31 TR (R) 30 6

2. (A) IR (R) Hi== 76

3. (A) 3 (R) T4 TRRT

4. (A) 3 TE (R) 31 =

Options:

645350114555 1
645350114556 2
648350114557 =
45350114558 4



Question Number : 105 Question Id : 64635029181 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TR THRAE (A) AR TR (R) @ 15 A1 T Code STEEAT 9RA :
qEHEE (A) A0 A9 6 AEmE art g s e
WEE (R)  : HEHT S8 SR s TrEE gRE g JEE
Codes :

1. (A) 3R (R) 30 &

2. (A) ¥R (R) H=4T 7

3. (A) W (R) A4 TS

4. (A) 3= (R) 3 T

Options:

645350114555 1
645350114556 2
645350114557 =
645350114558 4

Question Number : 106 Question 1d : 64635029182 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e HAE (A) AR e (R) @ 7=t 91 = Code TMe@AT 9194
TRRAR (A) A0 AU G AN SR 6 9 AT e d@keE
ATESAA AT |
SEM (R) . HFEAT §ERE MO @eAE  EE arn gial an AaresEr wen
GTATHATAT ATESTN F19T @al THAT ST |
Codes :
1.  (A) 37 (R) 31 M=
2. (A) 3 TR (R) 30 6
3. (A) IR (R) et 76

4. (A) #R (R) T4t TR

Options:

645350114559 1
645350114560 2
645350114561 =
645350114562 4

Question Number : 106 Question 1d : 64635029182 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e HAE (A) AR e (R) @ 7=t 91 = Code TMe@AT 9194
TRRAR (A) A0 AU G AN SR 6 9 AT e d@keE
ATESAA AT |
SEM (R) . HFEAT §ERE MO @eAE  EE arn gial an AaresEr wen
GTATHATAT ATESTN F19T @al THAT ST |
Codes :
1.  (A) 37 (R) 31 M=
2. (A) 3 TR (R) 30 6
3. (A) IR (R) et 76

4. (A) #R (R) T4t TR

Options:

645350114559 1
645350114560 2
645350114561 =
645350114562 4

Question Number : 107 Question 1d : 64635029183 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code E™EAM TE@E EFE NERERE! qoe (F99), &, W@ dn arwsa aied
TR AIAEATGE! A

@ /¥
(b) &/
© /T
@ /=/

Codes :

L. (d), (), (a), ()
2. (@0, ©
3. (0, (b),(a), (d)
4. (b),(d), (), (@)

Options:

645350114563, 1
645350114564 2
645350114565 5
645350114566 4

Question Number : 107 Question 1d : 64635029183 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Code E™EAM TE@E EFE NERERE! qoe (F99), &, W@ dn arwsa aied
TR AIAEATGE! A

@ /¥
(b) &/
© /T
@ /=/

Codes :

L. (d), (), (a), ()
2. (@0, ©
3. (0, (b),(a), (d)
4. (b),(d), (), (@)

Options:

645350114563, 1
645350114564 2
645350114565 5
645350114566 4

Question Number : 108 Question 1d : 64635029184 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Code IEEAH ‘FRE--H-Fh S9EE S aied BREGT T9A19 aTis-Thid- R -
A, Fp-9H, 92 A EHEEE @M HIS AeeEEE 96

(@ =T

(b)y o™
(c) HqEH
(d) FFa=

Codes :

1. (), ®),(c), (d)
2. (b, @),
3. (o), (@, (), (b
4. (c), (a), (d), (b)

Options:

645350114567 1
45350114568 2
645350114569 5
645350114570 4

Question Number : 108 Question Id : 64635029184 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code IEEAH ‘FRE--H-Fh S9EE S aied BREGT T9A19 aTis-Thid- R -
A, Fp-9H, 92 A EHEEE @M HIS AeeEEE 96

(@ =T

(b)y o™
(c) HqEH
(d) FFa=

Codes :

1. (), ®),(c), (d)
2. (b, @),
3. (o), (@, (), (b
4. (c), (a), (d), (b)

Options:

645350114567 1
45350114568 2
645350114569 5
645350114570 4

Question Number : 109 Question Id : 64635029185 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e gF™ A1 | FR-11 @ 19 2AF Code SEEAT 79 ThAMEE! 999

-1 a1
(@) =ork sty T Q) oot/ o
(b)  awTET st aEE () g
(¢) IR AFEEA TEEr (1) ety
(d) o AFFET 9 ) a4

Codes :
L (a-@); (D)) (0)-v); (d)-in)
2. (a)y-(); (B)-v); (e)-(it); (1)
3. (@(v); (b)-(); (e)-(u); (1)
4. (a)-ii); ()-01); (©)-v); (d)-1)

Options:

645350114571 1
645350114572 2
45350114572 =
645350114574 4

Question Number : 109 Question Id : 64635029185 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e gF™ A1 | FR-11 @ 19 2AF Code SEEAT 79 ThAMEE! 999

-1 a1
(@) =ork sty T Q) oot/ o
(b)  awTET st aEE () g
(¢) IR AFEEA TEEr (1) ety
(d) o AFFET 9 ) a4

Codes :
L (a-@); (D)) (0)-v); (d)-in)
2. (a)y-(); (B)-v); (e)-(it); (1)
3. (@(v); (b)-(); (e)-(u); (1)
4. (a)-ii); ()-01); (©)-v); (d)-1)

Options:

645350114571 1
645350114572 2
45350114572 =
645350114574 4

Question Number : 110 Question Id : 64635029186 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



MeraTE g B 5t ff-Il @t ) €9 Code aerAT 99 et 99

-1 -1
() TR, Forr @ %
(b) eramEE, e w n
(¢) TferTE, Jw@i (i)
(d) oJm=res, gomE )

Codes :
L. (a-Qv); (b)-(u); (¢)-Q); (d)—-(11)
2. (a-Q); (D-v); (o)-); (d)-m)
3. (a-Q); (D), (o)-u); (d)-(1)
4. (a)-Qv); (b)-(); (c)-(1); ()

Options:

45350114575 1
645350114576, 2
645350114577 5
645350114578 4

Question Number : 110 Question Id : 64635029186 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



MeraTE g B 5t ff-Il @t ) €9 Code aerAT 99 et 99

-1 -1
() TR, Forr @ %
(b) eramEE, e w n
(¢) TferTE, Jw@i (i)
(d) oJm=res, gomE )

Codes :

1. (a)-Qv); (b)-(u); (e)-(); (d)~1u)
2. (&) (b)av); (e)-(u); (d)m)
3. (a)@); (bv); (e)-(ui); (d)—11)
4. (a)-v); (b)), (c)-(1); (1)

Options:

E4E2E0114575 1

45250114576 2

E45350114577. 2
645350114575, 4

Question Number : 111 Question Id : 64635029187 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e a9 JFEAT 90 TG ARGATE TG
Codes :
1. 39 SoEel SeTEeenF (Suffix Agglutinating)
2. GEET SeTEel aTEereAE (Partial Agglutinating)
3. O semEee aeEetEE (Prefix Agglutinating)

4. T 3 39 WA SETEE S

Options:
645350114579 1



E4E350114580. 2
645350114581, =
645350114582 4

Question Number : 111 Question 1d : 64635029187 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
e e FFEAr 90 TEH AGATS 049G
Codes :

1. 39 goEal SErEeeiFr (Suffix Agelutinating)
2.  @Edd grefaal g (Partial Agglutinating)
3. O semEee aeTEetEE (Prefix Agglutinating)

4. T AW 39 WRAST SIEEE SEEET

Options:

645350114579 1
648350114580 2
45350114581 =
6453501145582 4

Question Number : 112 Question Id : 64635029188 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TMEE™ T4 a9 Al SR 39 SeEe 197 9699

Codes :
1 Fhdlh
2. fEmmEm
3. A
4. TwI
Options:

645350114583, 1
645350114584, 2
645350114585 =5
E4EZ50114556. 4



Question Number : 112 Question Id : 64635029188 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

MErA 99 T A% e 39 SeEe T4 999

Codes :
1 EEEEET
2. femmEw
3. M
4. T
Options:

645350114583 1
E4E350114584. 2
E45350114585. =
6453501145586, 4

Question Number : 113 Question Id : 64635029189 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Code FEFAT TEREM a9 HFAN TEhHRT ARAR TaH a6 RE! Sih= TeEa a6

Codes :
1. &R AR FFaE
2. T o T
3. FE AM A

4, TR AR TAT

Options:

648350114587 1
45350114588 2
645350114589
645350114530 4

Question Number : 113 Question Id : 64635029189 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Code FETEAM TEMEN a9 HFAN TEhHT ARAR TaH FEFRE! SiiE- SeEa a6
Codes :

1.  FEE AR FFaF
2. feomar w T
3. TE AR

4. TR AR THT

Options:

645350114587 1
645350114588 2
648350114589 =
E4E5350114590 4

Question Number : 114 Question Id : 64635029190 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Code FEEAM TEMEN T8 AT FEEHRT TG TE-wEE hal 96
Codes :

1. &@&m, 3hr, sffer

2. TAM, Tr3%er, ATTHIY

3. A, Fe, T

4. TSE@, T, A

Options:

645350114591 1
645350114592 2
648350114592 =
E4E5350114594 4

Question Number : 114 Question Id : 64635029190 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code FEAM TEMEM F AT SEBRT T4 TawerR el 999 ¢
Codes :

1. &@m, 36R, SHer

2. FAM, Ur3%el, AEHIN

3. A, [e, T

4. To=Em, T, w

Options:

645350114591 1
645350114592 2
648350114592 =
E4E5350114594 4

Question Number : 115 Question Id : 64635029191 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

METH R (A) 3 STEF (R) ©F T+ 91 TRIF Code ATETIAT 9194

TREAE (A) 9 TEH SAEE TERRE TS T A T8 B IS S A
SIS =T TAT AT |

e (R) L OEET A 19 STEE TEEs TEHAt AT ST |
Codes :

1.  (A) 3R (R) g4l 76

2. (A) 3 TE (R) 3T ="

3. (A) 3R (R) 3 W

4. (A) ¥R (R) =4 TR

Options:

£4E350114595 1
45350114598 2
645350114597 5
645350114598 4



Question Number : 115 Question Id : 64635029191 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T FHRATT (A) 3R SEHE (R) @ 79 91 TR Code ATEEAT 9194
TEEAE (A) 9 TEH FEEE TEERE T TEE TP 98 BAEEE TS e
&l ST HeAT ST |
SeE (R)  :  WEAT SEEE 09 SEEEThR TEaEsi TEA! AaeEE g |
Codes :
1. (A) 3= (R) A==aT 76
2. (A) s TE (R) oI TR
3. (A) 3 TR (R) 30 &
4. (A) ¥R (R) =4t TR

Options:

645350114595 1
645350114596 2
645350114597 =
645350114598 4

Question Number : 116 Question 1d : 64635029192 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e TR (A) AR AR (R) B e 971 TMRita Code TMEEAT A9

THEAE (A) 8 TG §HONH TEhEE G T ARgAET e T AR (stress)
EIEEEIEN

e (R) © HAAT § 79 BESE ORI T AREEsT @EEE At 9@
ST |

Codes :
1. (A) 3R (R) HH=aT 76
2. (A) 3 TE (R) 3 M=
3. (A) IR (R) gH=4T TR

4. (A) 3 TR (R) 30 7=
Options:
402350114599, 1
646350114600 2
646350114601 3
645350114602 4

Question Number : 116 Question 1d : 64635029192 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e TR (A) AR AR (R) B e 971 TMRita Code TMEEAT A9

THEAE (A) 8 TG §HONH TEhEE G T ARgAET e T AR (stress)
EIEEEIEN

e (R) © HAAT § 79 BESE ORI T AREEsT @EEE At 9@
ST |

Codes :
1. (A) 3R (R) HH=aT 76
2. (A) 3 TE (R) 3 M=
3. (A) IR (R) gH=4T TR

4. (A) 3 TR (R) 30 7=
Options:
402350114599, 1
646350114600 2
646350114601 3
645350114602 4

Question Number : 117 Question 1d : 64635029193 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code STETEAM YA TEHAT a¢ TG GEE TEM et 9ied &g aia-q
I FEAEE I

(b) TRl
(c) ATt

() f&=r
Codes :
L. (b), (@), (), (d)
2. (b),(c), (d), (a)
3. (0, (b) () (d
4. (@), (), (b), @

Options:

645350114603 1
648350114604 2
45350114605 =2
645350114606, 4

Question Number : 117 Question Id : 64635029193 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code STETEAM YA TEHAT a¢ TG GEE TEM et 9ied &g aia-q
I FEAEE I

(b) TRl
(c) ATt

() f&=r
Codes :
L. (b), (@), (), (d)
2. (b),(c), (d), (a)
3. (0, (b) () (d
4. (@), (), (b), @

Options:

645350114603 1
648350114604 2
45350114605 =2
645350114606, 4

Question Number : 118 Question Id : 64635029194 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code ARTHAN TEMEME ETHM™ 90 FREHTHRA SEHEE TREwEEE S
FUREAM HIS A 96

() QAW T

(b) A& fef=rn gemEeE

(c)  dTEeAleI ATEee FHE

() = |
Codes :

L. (d), (@) (c) (D)
2. (a),(c), (b), (d)
3. (e) (@) (@,
4. (d), (@), (D), (©

Options:

645350114607 1
645350114608 2
648350114609 =
45350114610 4

Question Number : 118 Question Id : 64635029194 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code ARTHAN TEMEME ETHM™ 90 FREHTHRA SEHEE TREwEEE S
FUREAM HIS A 96

() QAW T

(b) A& fef=rn gemEeE

(c)  dTEeAleI ATEee FHE

() = |
Codes :

L. (d), (@) (c) (D)
2. (a),(c), (b), (d)
3. (e) (@) (@,
4. (d), (@), (D), (©

Options:

645350114607 1
645350114608 2
648350114609 =
45350114610 4

Question Number : 119 Question Id : 64635029195 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TMerE A -1 o ™11 &t TE 2 Code ITe/™AT 746 Th—mawt 994

fafe-I fafe-1I
(@) w O %=
(b) = )  sm
(©) e (1)  fay
(d) =rfx av) &

Codes :
1. (a)-(iv); (b)-(1); (e)—(1); (d)111)
2. (a)-(im); (D)-1); (e)Hwv); (1)
3. (a)-(u); (b)-Q); (e)-1); (d)-(1v)
4. (a)y-); (b)v); (e)-(m); (d)—1)

Options:

646350114611, 1

646350114612, 2

E4E3501146132. =
645350114614 4

Question Number : 119 Question 1d : 64635029195 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



TMerE A -1 o ™11 &t TE 2 Code ITe/™AT 746 Th—mawt 994

fafe-I fafe-1I
(@) w O %=
(b) = )  sm
(©) e (1)  fay
(d) =rfx av) &

Codes :
1. (a)-(iv); (b)-(1); (e)—(1); (d)111)
2. (a)-(im); (D)-1); (e)Hwv); (1)
3. (a)-(u); (b)-Q); (e)-1); (d)-(1v)
4. (a)y-); (b)v); (e)-(m); (d)—1)

Options:

646350114611, 1

646350114612, 2

E4E3501146132. =
645350114614 4

Question Number : 120 Question 1d : 64635029196 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



e BFE [AR-1 3 =11 @ TRE 28111 Code STEEAT 79 TSRA-TaeE! |99

-1 -1
(@) I SUE
() )  wafa
(©) fmit (1) s
(A =T (v) orfa

Codes :
1. (a)-(); ()i); (0)—~(1); (d)—Gv)
2. (a)-v); (b)~(u); (0)-1); (1)
3. (@-v); (b)), (e)-(in); (1)
4. (a)-(1); (b)-v); (¢)-(1); ()i

Options:

645350114615 1
648350114616 2
45350114617 =2
645350114618 4

Question Number : 120 Question Id : 64635029196 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e BFE [AR-1 3 =11 @ TRE 28111 Code STEEAT 79 TSRA-TaeE! |99

-1 -1
(@) I SUE
() )  wafa
(©) fmit (1) s
(A =T (v) orfa

Codes :
1. (a)-(); ()i); (0)—~(1); (d)—Gv)
2. (a)-v); (b)~(u); (0)-1); (1)
3. (@-v); (b)), (e)-(in); (1)
4. (a)-(1); (b)-v); (¢)-(1); ()i

Options:

645350114615 1
648350114616 2
45350114617 =2
645350114618 4

Question Number : 121 Question Id : 64635029197 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

MEMEH ¢ AT g TeH ATSEs G s

Codes :
1. o9& A
2. SEE AT
3. &S
4, T W AT
Options:

E4E350114619. 1
EAEZ50114620. 2



E4E350114621. =
EAE350114622. 4

Question Number : 121 Question Id : 64635029197 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e T AT [Ered TEM ATaAEs GeaEm=d

Codes :
1. & A
2. S SIAE
3. &S
4. T HY A
Options:

E45350114619. 1
EAE350114620. 2
645350114621, 2
645350114522 4

Question Number : 122 Question Id : 64635029198 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AT ST FHE ST SE HE a6

Codes :
1. fafEE
2. SATUTEMAT
3. TN SARAT
4.  TERAT

Options:

645350114623 1
648350114624 2
645350114625 5
645350114626 4

Question Number : 122 Question Id : 64635029198 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

IS SRIATE 9H1E STERA™H STeAal 994

Codes :
1. b
2. ATATEE
3. T SAigH
4. TEEA

Options:

645350114622 1
645350114624 2
645350114625 =
645350114626 4

Question Number : 123 Question 1d : 64635029199 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Code FAETAT TMEMEM ¢ FHEIET TEsT T TREAEEE TEH
Codes :

1.  omaig SR g (Jer)
2. g@EtE AR R
3. ogEiE dR SR

4.  oOmEtE AR @

Options:

645350114627 1
645350114628 2
648350114629 =
45350114620 4

Question Number : 123 Question Id : 64635029199 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code FETAR e T9 HHEIAT AT TE TREEEEE 69
Codes :

1. omanig AR g (Jie)
2. 9@t AR R
3. oEfE A SR

4.  AERE AR GEEr

Options:

648350114627 1
45350114628 2
645350114629
645350114630 4

Question Number : 124 Question Id : 64635029200 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Code TETEAT MEEH F& WHEEAT A T MHEAEATE 990

Codes :

1. T AR S9ET 9EEE
2. WY AR A SFEAE

3. ©YE AR HEE BEEeEd
4. T AR AEAE @A

Options:

645350114621, 1
645350114632 2
645350114633 =
645350114634 4

Question Number : 124 Question 1d : 64635029200 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code TTETHT TMEMEH To HHEAT TS TG MGG q99

Codes :

1. @9 99 9 SEEE
2. WY AR A S

3. W AN AEE BEEeEE
4. @I AR [TEAE JEEAE

Options:

648350114621 1
45350114632 2
645350114622
645350114634 4

Question Number : 125 Question Id : 64635029201 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TERI JRRATT (A) AR SEM (R) @ 6 A1 T4 Code ATERAT W19
THEME (A) 90 FIHEHA TE TRIAET AER Sger | ahaeE FER aeEEe
SHETIRRTEET STEl- T |

e (R) C HAMEAT 9 AAEGBRE 9 S gEEEEr Fiier e ahaeEt
ST A SeeArar Ty JiEwE |

Codes :
1. (A) 3R (R) OFam 16
2. (A) 3T« (R) 3 M=
3. (A) 3R (R) 30 6
4. (A) AR (R) =4 TR

Options:
645350114635, 1

EAEZ50114E636. 2
E4E350114637. =
645350114635, 4



Question Number : 125 Question Id : 64635029201 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

MET FHRATT (A) AR SEHE (R) @ e A1 T4 Code STERAT 919

JERAE (A) ;. a0 FIREA T TREET FER Sgen | aHaEEr FEr aeEa
TATIRREET AT -HIETE |

S (R) L AT 9% AERERE 9 SR e Fiew aen - aEEEt
S AR Steerat Tar Jiarar |

Codes :
1. (A) 3R (R) F==aT &
2. (A) 3T (R) 3 TR
3. (A) 3R (R) 30 T
4. (A) #A (R) T4 TR

Options:

645350114635 1
648350114636 2
45350114627 =2
645350114628 4

Question Number : 126 Question Id : 64635029202 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



METE™ A (A) AR AEE (R) @ & A1 TR Code aTETEAT 999

THERA™ (A) :  F0HR o9 gHEE dfetEr @m fg suhr fEet ameaer
eH=Ta TEEE qEEET @ |

WEM (R) . AFEAT SEi Sere RS deee St gen g s
AR 9 GBI T e |
Codes :
1. (A) 9 (R) H=«T 74
2. (A) 3 (R) 1 M=
3. (A) 3R (R) o1 T

4, (A) FR (R) A1 TRFT

Options:

645350114639 1
645350114640 2
645350114641 =
45350114642 4

Question Number : 126 Question Id : 64635029202 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



METE™ A (A) AR AEE (R) @ & A1 TR Code aTETEAT 999

THERA™ (A) :  F0HR o9 gHEE dfetEr @m fg suhr fEet ameaer
eH=Ta TEEE qEEET @ |

WEM (R) . AFEAT SEi Sere RS deee St gen g s
AR 9 GBI T e |
Codes :
1. (A) 9 (R) H=«T 74
2. (A) 3 (R) 1 M=
3. (A) 3R (R) o1 T

4, (A) FR (R) A1 TRFT

Options:

645350114639 1
645350114640 2
645350114641 =
45350114642 4

Question Number : 127 Question Id : 64635029203 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code «ERAM IUEHRMA TEEE AEAE G@EMHGHRAE  REHEEE SHEEE S
IISEATEE] W6

(a)  HIFIR T8
(b)  Toe= sa =

(¢) & MHieEmE e

(d) @ T e
Codes :
L. {e), (@), (@, ®)
2. (a)(e) 0. @
3. (b, (@), (@, @©

4. (b),(d), (c), (@)
Options:
645350114542 1
645350114544 2
645350114545 =
645350114546 4

Question Number : 127 Question Id : 64635029203 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code «ERAM IUEHRMA TEEE AEAE G@EMHGHRAE  REHEEE SHEEE S
IISEATEE] W6

(a)  HIFIR T8
(b)  Toe= sa =

(¢) & MHieEmE e

(d) @ T e
Codes :
L. {e), (@), (@, ®)
2. (a)(e) 0. @
3. (b, (@), (@, @©

4. (b),(d), (c), (@)
Options:
645350114542 1
645350114544 2
645350114545 =
645350114546 4

Question Number : 128 Question Id : 64635029204 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code TETAT AW THE HEAT SATHRA %R IAEHE HIE S 96

(a)  ToRem gm@EAE

(b)y AR gEFEE
(c) I A
(d) HARE =A™

Codes :

L (), (), (a), (d)
2. (b),(d), (c) (a)
3. (d), (), (c), (@)
4. (d), (b), (a), (¢

Options:

645350114647 1
648350114648 2
45350114649 =
645350114650, 4

Question Number : 128 Question Id : 64635029204 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code TETAT AW THE HEAT SATHRA %R IAEHE HIE S 96

(a)  ToRem gm@EAE

(b)y AR gEFEE
(c) I A
(d) HARE =A™

Codes :

L (), (), (a), (d)
2. (b),(d), (c) (a)
3. (d), (), (c), (@)
4. (d), (b), (a), (¢

Options:

645350114647 1
648350114648 2
45350114649 =
645350114650, 4

Question Number : 129 Question Id : 64635029205 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TEAE 2AE [&-1 =it &= & T 2A Code IEEAT 74 ThAEE 999

faf-1 faR-II
(@) e (1) AR g A
(b) AT (1) e faumEmE SE
¢) weEE = (1) & TFmn &
d &g (v) =it fpfFm

Codes :
L (@-i); (D-0); (©1); (div)
2. (- (b)), (e)-v);, (-1
3. (a)-v); (b)-); (e)-1); (d)-{u1)
4. (a)-@); (B)—v); (o)-(ii); (d)(i)

Options:

645350114651 1
645350114652 2
6453501146532 =
648350114654 4

Question Number : 129 Question Id : 64635029205 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TEAE 2AE [&-1 =it &= & T 2A Code IEEAT 74 ThAEE 999

faf-1 faR-II
(@) e (1) AR g A
(b) AT (1) e faumEmE SE
¢) weEE = (1) & TFmn &
d &g (v) =it fpfFm

Codes :
L (@-i); (D-0); (©1); (div)
2. (- (b)), (e)-v);, (-1
3. (a)-v); (b)-); (e)-1); (d)-{u1)
4. (a)-@); (B)—v); (o)-(ii); (d)(i)

Options:

645350114651 1
645350114652 2
6453501146532 =
648350114654 4

Question Number : 130 Question Id : 64635029206 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



MEEE g -1 S @il @t a8 89 Code SE™AT 79 thAARE! 9Ed

-1 -1
@) e TEE () eremE R
(b)  arE e g (1) gty 3% HeEE
(¢) TR W (i)  FgriEm JEEE
(d) o wen (v) gweamE R

Codes :
1. (@-@u); (b)m); (e)-(v);, (d)1)
2. (a)-i); (B-O); (0)i1); (D(v)
3. (a)-@); (B)-~v); (o)-(); (d)-(iil)
4. (a)-(v); (b)-(u); (c)-(1), (d)-(1)

Options:

645350114655 1
645350114656 2
645350114657 =2
45350114658 4

Question Number : 130 Question Id : 64635029206 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



MEEE g -1 S @il @t a8 89 Code SE™AT 79 thAARE! 9Ed

-1 -1
@) e TEE () eremE R
(b)  arE e g (1) gty 3% HeEE
(¢) TR W (i)  FgriEm JEEE
(d) o wen (v) gweamE R

Codes :
1. (@-@u); (b)m); (e)-(v);, (d)1)
2. (a)-i); (B-O); (0)i1); (D(v)
3. (a)-@); (B)-~v); (o)-(); (d)-(iil)
4. (a)-(v); (b)-(u); (c)-(1), (d)-(1)

Options:

645350114655 1
645350114656 2
645350114657 =2
45350114658 4

Question Number : 131 Question Id : 64635029207 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

METa J¢ T 9C R Tal Terd=Ea-T 31 s9=1ae aedr 9499

Codes :
1. a/«
2. S EEE
3. e
4. @nE
Options:

645350114659, 1
645350114560, 2



E4E350114661. =
645350114662, 4

Question Number : 131 Question Id : 64635029207 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TE™H T« AT g€ 5 el TMe™H-FwEET A1 s9=1aE aedr 999

Codes :
1. 9
2. SEEE
3. el
4. @
Options:

645350114859, 1
EAE350114660. 2
E45350114661. =
645350114662, 4

Question Number : 132 Question 1d : 64635029208 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

MM 9 FHEE! GIE e Sa-ad 919t T6g
Codes :

1. 9= aEaE

2. TEE @HE

3. FEr g  Ee

4. EAEEEEEIE)

Options:

645350114663 1
645350114664 2
648350114665 =
645350114666, 4

Question Number : 132 Question Id : 64635029208 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

TMeEAE 79 AETEr U™ IHE sa941aE AE! 96T

Codes :
1. 9= amaaE
2.  Tg& @
3. diEr @iy @Ee
4. EAEECERIE)
Options:

E4E350114663. 1
645350114664 2
645350114665, 2
645350114566, 4

Question Number : 133 Question Id : 64635029209 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Code FETEAM @M 59 FHAAT TESI T NASATEGHE 969

Codes :

1. TWH & FEE 3 aeEe

t~

I & BT IR Sera
3.  @WH E T AR i
4.  @mEH E FeEm owm geE

Options:

48350114667 1
45350114668 2
645350114669
645350114670 4

Question Number : 133 Question Id : 64635029209 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Code FETEAM TEEN 59 THATT TMESI T MEATEAE 999

Codes :

1. wEmWH & e A A

2

I+ @ A 3/ SEra
3. @ & T o et
4,  w=WH @ e /@ gEe

Options:
4532501146867, 1

EAE350114668. 2
E4E350114669. =
E4A5350114670. 4

Question Number : 134 Question 1d : 64635029210 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Code AERTEAM Te@M T8 H=EAT MG TE TEEAE q6
Codes :

1. HIENT AR AT S
2. QSN AR AR e
3. "SR AN 99 e

4. HIERT AR AR EAE

Options:

645350114671 1
645350114672 2
6483501146732 =
645350114674 4

Question Number : 134 Question Id : 64635029210 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code TEEAH e T FEIAT TEST TE TREGEAE 999
Codes :

1.  HI=FT AR R Qs
2. ISR AR AREE i

3. HI=EET AR S9E Qe

4. ISR AR 9 EFE

Options:
453250114671, 1

EAE350114672. 2
EAE350114673. =
645350114674 4

Question Number : 135 Question 1d : 64635029211 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T THRAE (A) IR AEH (R) B 78 A1 IR Code TE™EAT A9

AR (A) . TEHRA &, @@, gfd EEEE SmoawEr et e
LHRFEEAT 597 Serr Freret |

WEA(R) ;.  AFET gESE 9EE AT] R ahE FEFwREn dAaed GEn
T TE ohaT TR AT 91 @I 901, a0 HieT |

Codes :

1. (A) 3034 (R) 3 TR=1
2. (A) 3 TR (R) = =
3. (A) 9™ (R) 9FAa TR
4. (A) ¥R (R) T4 e

Options:

646350114675 1

646350114676 2

645350114677, =
645350114675 4



Question Number : 135 Question Id : 64635029211 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e THEAE (A) FE e (R) @ 7" A1 AR Code aTEMAT Ao

JHEE (A) © FOHRE W, =E, @ deEH S em gmEie FEmEr o
IR 5 Sfetar Freret |
SEA(R) . HAEET SERE 9EE AF] R aER RREwrEr d9EeE GE

et T a1 TRAhRAT S @M A9, SaET BRieST |
Codes :
1. (A) 3074 (R) 3 M=
2. (A) 3 IRIE (R) = =
3. (A) 9@ (R) 9FAa TR
4. (A) ¥R (R) T4t e

Options:

645350114675 1
645350114676 2
645350114677 =
645350114678 4

Question Number : 136 Question 1d : 64635029212 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



MeE™ FHEE (A) JR AEH (R) G 79 71 TR Code FEEAT 919

TEEAE (A) :  TOEN A HHeen @Rt AiE @ oo feee e
I BT |

SEF(R) 0 AFFT EERE e e & e e Tt )
Codes :

1. (A) @75 (R) 3w 7=y

2. (A) 3 TR (R) 31 96

3. (A) 3™ (R) A=A TR

4. (A) IR (R) H===t 79

Options:

645350114679 1
645350114680 2
648350114681, =
45350114682 4

Question Number : 136 Question Id : 64635029212 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



MeE™ FHEE (A) JR AEH (R) G 79 71 TR Code FEEAT 919

TEEAE (A) :  TOEN A HHeen @Rt AiE @ oo feee e
I BT |

SEF(R) 0 AFFT EERE e e & e e Tt )
Codes :

1. (A) @75 (R) 3w 7=y

2. (A) 3 TR (R) 31 96

3. (A) 3™ (R) A=A TR

4. (A) IR (R) H===t 79

Options:

645350114679 1
645350114680 2
648350114681, =
45350114682 4

Question Number : 137 Question Id : 64635029213 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code TMETEAM TAHIEAT &e FeEE @ SHMEE 9@E S-SRk S3Ed
FHIRT FETE=EEr 999

() e

(b) &=

(0 o g
(d)  Foremsar deat

Codes :

L. (d),(@),(c), (b)
2. (d), @), (b))
3. (a),(0).(c). (d)
4. (a),(b),(d), (c)

Options:

645350114683 1
645350114684 2
646350114685 =
45350114686 4

Question Number : 137 Question Id : 64635029213 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Code TMETEAM TAHIEAT &e FeEE @ SHMEE 9@E S-SRk S3Ed
FHIRT FETE=EEr 999

() e

(b) &=

(0 o g
(d)  Foremsar deat

Codes :

L. (d),(@),(c), (b)
2. (d), @), (b))
3. (a),(0).(c). (d)
4. (a),(b),(d), (c)

Options:

645350114683 1
645350114684 2
646350114685 =
45350114686 4

Question Number : 138 Question Id : 64635029214 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Code FETIAM HIE FHETE AEATT WA R SAEH FI0E FEma-TaE] I

(a)  STEEE
(b) HEEEE
(¢) @A™
(d) R gIE

Codes :

1. (b, (), (),
2. (), ()@
3. (a), (c), (@), (b)
4. (a),(c), (), (@

Options:

48350114687 1
45350114688 2
645350114689 5
645350114630 4

Question Number : 138 Question Id : 64635029214 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Code FETIAM HIE FHETE AEATT WA R SAEH FI0E FEma-TaE] I

(a)  STEEE
(b) HEEEE
(¢) @A™
(d) R gIE

Codes :

1. (b, (), (),
2. (), ()@
3. (a), (c), (@), (b)
4. (a),(c), (), (@

Options:

48350114687 1
45350114688 2
645350114689 5
645350114630 4

Question Number : 139 Question Id : 64635029215 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



TMe™EE g™ MR- 3 ™11 & TRE A1 Code TTEM™EAT 76 =M@ IEd :

- I
@ 5 g (i) < T
(b) =7 gran & (i) sffar &t T
©) Er HE (i)  3ffarsit s
(& srgms (V) gt arw

Codes :

L. (a)-v); (b)—(it); (e)-(1); (d)—ii)
2. (a)-(v); (b)-(m); (c)-(); (d)—1)
3. (a)-; (b)—v); (e)-Qu); (d)—~1)
4. (a)-(); (b)—v); (c)-(1); (d)-(111)

Options:

45250114691, 1

45350114692 2

6453501146393, =
645350114554 4

Question Number : 139 Question 1d : 64635029215 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TMe™EE g™ MR- 3 ™11 & TRE A1 Code TTEM™EAT 76 =M@ IEd :

- I
@ 5 g (i) < T
(b) =7 gran & (i) sffar &t T
©) Er HE (i)  3ffarsit s
(& srgms (V) gt arw

Codes :

L. (a)-v); (b)—(it); (e)-(1); (d)—ii)
2. (a)-(v); (b)-(m); (c)-(); (d)—1)
3. (a)-; (b)—v); (e)-Qu); (d)—~1)
4. (a)-(); (b)—v); (c)-(1); (d)-(111)

Options:

45250114691, 1

45350114692 2

6453501146393, =
645350114554 4

Question Number : 140 Question 1d : 64635029216 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



MerEE g™ -1 S MR- @7 1" A Code IEREAT & RG] 9199

a1 -1
(@) am 1) grg s g
() gom (i) ottt s
(©) & @ (1) sffar Tt AT
(@) @y (iv) <ot gEE! G @t

Codes :

L. (a)-(v); (b)-(@); (c)—(w); (d)-(1m)
2. (a)-v); (b)), (c)—(un); (d)—(11)
3. (a)H1); (b)-11); (¢)—11); (d)-(v)
4. (a)); (b)-i); (e)-v); (d)-(11)

Options:

645350114535 1

645350114636, 2

E4E8250114857. 3
E4E8250114858. 4

Question Number : 140 Question Id : 64635029216 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



MerEE g™ -1 S MR- @7 1" A Code IEREAT & RG] 9199

a1 -1
(@) am 1) grg s g
() gom (i) ottt s
(©) & @ (1) sffar Tt AT
(@) @y (iv) <ot gEE! G @t

Codes :

L. (a)-(v); (b)-(@); (c)—(w); (d)-(1m)
2. (a)-v); (b)), (c)—(un); (d)—(11)
3. (a)H1); (b)-11); (¢)—11); (d)-(v)
4. (a)); (b)-i); (e)-v); (d)-(11)

Options:

645350114535 1

645350114636, 2

E4E8250114857. 3
E4E8250114858. 4

Question Number : 141 Question Id : 64635029217 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fermaraRE Fiia dar] (Fi Fg) @t 99 5.
Codes :

1. e
2. & TR
3. gy
4. gwEg

Options:
645350114699 1
645350114700 2

645350114701, 2



E4E350114702. 4

Question Number : 141 Question Id : 64635029217 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TR R i a9F] (Fid [9g) @ 33 T4t
Codes :
1. I I
AR
3. mE g
4. gy

Options:

645350114699 1
648350114700 2
645350114701, =2
645350114702 4

2

Question Number : 142 Question Id : 64635029218 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TTHOT-AT |
Codes :

1. A JEEE
2. WHEFH HEHE™
3. g "EEE
4. TA-ATE-Tormi= Tram=r

Options:
645350114703, 1

E4E350114704, 2
E4E350114705. 2
645350114706, 4

Question Number : 142 Question Id : 64635029218 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
THOT-AT |
Codes :

1. A JEEE
2. WHEHN HEE™
KT | 11 e
4. o-SE-fermi A

Options:

645350114702 1
645350114704 2
645350114705 =
648350114706 4

Question Number : 143 Question Id : 64635029219 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Code TMETHAT T EHE To BT [aThRA BRAFE TR T4 9999

Codes :
1. i AR
2. @M AR AT
3. U@ AW EmEr
4. it AR g
Options:

645350114707, 1
645350114708, 2
645350114703, 3
E4EZ50114710. 4

Question Number : 143 Question Id : 64635029219 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code TMETHAT TMETEE EHE T9 B [HaThRA BRAGE TR T4 9199

Codes :

1. i AR
2. @™ AR TIAT
3. U AW EmEr
4, iR g

Options:
645350114707, 1

E4E350114708. 2
E4E350114709. =
645350114710 4

Question Number : 144 Question Id : 64635029220 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Code TAREAM TEEE SHE T4 HEEGT TN SIEST @Aleal T i ds/ea TeEt
B3 12 EC I

Codes :

1. | AR 99
2. TEET AR ==
3. TN AR FTHAGATHAT

4. T AR 9

Options:

645350114711 1
648350114712 2
45350114712 =
645350114714 4

Question Number : 144 Question Id : 64635029220 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code TAEEAM TEEE SHE T¢ FEEGT TEMAT RIEST A= T i =7 TeEt
HEH

Codes :

1. %9 AR T
2. TEOE AR ETE
3. BTN AR FTHETFT

4. TFET I ATEE

Options:

645350114711 1
645350114712 2
645350114713 =
648350114714 4

Question Number : 145 Question 1d : 64635029221 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e JHEEE (A) R TEF (R) @ T A1 TR Code ITEEAT 91649

JEAE (A) : THETER IR GREEREE SEAr T e S e geed e e
T |

WEF (R) ¢ AFEN A GEEE o TR F-aE) @y e |
Codes :

1. (A @™ (R) A==t 7

2. (A) ¥ (R) A== TR

3. (A) 3T (R) o TR

4. (A) 3 TR (R) 30 96

Options:

645350114715 1
648350114716 2
45350114717 =2
645350114718 4



Question Number : 145 Question Id : 64635029221 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

MEEH FHRAE (A) AR AEE (R) G 74 71 R Code ITEEAT 9194

THAME (A) T are giEreE e 8 AR e e g e
T |
TEF (R) . AFEN A G o TR F-aiE@) @y g |
Codes :
1. (A) 3™ (R) A==t T
2. (A) @™ (R) H==at TR
3. (A) 3 TE (R) o T
4. (A) 3 TR (R) 30 96

Options:

645350114715 1
645350114716 2
645350114717 =
648350114718 4

Question Number : 146 Question Id : 64635029222 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



MEEAH JHERAT (A) AR SEE (R) @ 79 91 T Code STERAT 994 ¢
THEAE (A) AR B M- AE- T RRE Al A G S|
SEM (R) ;AT - 2mE-r wReaE e S e
Codes :
1. (A) 3 U= (R) 1 7=
2. (A) W (R) q=—=T 1o
3. (A) FE (R) q==aT TR

4. (A) 3 TF (R) 30 TR

Options:

645350114719 1
645350114720 2
45350114721 =2
645350114722 4

Question Number : 146 Question Id : 64635029222 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



MEEAH JHERAT (A) AR SEE (R) @ 79 91 T Code STERAT 994 ¢
THEAE (A) AR B M- AE- T RRE Al A G S|
SEM (R) ;AT - 2mE-r wReaE e S e
Codes :
1. (A) 3 U= (R) 1 7=
2. (A) W (R) q=—=T 1o
3. (A) FE (R) q==aT TR

4. (A) 3 TF (R) 30 TR

Options:

645350114719 1
645350114720 2
45350114721 =2
645350114722 4

Question Number : 147 Question Id : 64635029223 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code TAEEAN TMEEE TEME FHFNE FRANT HESTHE @M SIS qremaHer
qJ9Hhd

(@ =-3gA
(b) IR"=F

(c) EARES]

(d) o &
Codes :
L (d), (). (b), (@)
2. (0, (@, @), ®
3 (0, (9, @
4 (@), @, ®

Options:

645350114723 1
645350114724 2
648350114725 =
45350114726 4

Question Number : 147 Question Id : 64635029223 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code TAEEAN TMEEE TEME FHFNE FRANT HESTHE @M SIS qremaHer
qJ9Hhd

(@ =-3gA
(b) IR"=F

(c) EARES]

(d) o &
Codes :
L (d), (). (b), (@)
2. (0, (@, @), ®
3 (0, (9, @
4 (@), @, ®

Options:

645350114723 1
645350114724 2
648350114725 =
45350114726 4

Question Number : 148 Question Id : 64635029224 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code AMEREAM M@ A CHEMERMA 6g SRAMT AT JHR— WHEIE JEA—SRA
I AT Qe

(a) R
(b)  @rerEaT
(¢)  TIem

(d)  TT=rEaE

Codes :
1. (b),(c), (a), (d)
2. (.0, (), @
3. (d),(@), (D))
4. (0), (@), (), (@)

Options:

645350114727 1
645350114728 2
645350114729
648350114720 4

Question Number : 148 Question Id : 64635029224 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Code AMEREAM M@ A CHEMERMA 6g SRAMT AT JHR— WHEIE JEA—SRA
I AT Qe

(a) R
(b)  @rerEaT
(¢)  TIem

(d)  TT=rEaE

Codes :
1. (b),(c), (a), (d)
2. (.0, (), @
3. (d),(@), (D))
4. (0), (@), (), (@)

Options:

645350114727 1
645350114728 2
645350114729
648350114720 4

Question Number : 149 Question Id : 64635029225 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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-1 -1
@ o 1) zmemEm
(b) fufe ) R
© (i)  =fx
(d) =rfE ) g

Codes :
1. (a)-(i); (b)-); (©)-(v); (d)-i)
2. (a)y-(u); (b)v); (c)(1); (d)-(iut)
3. (a)-(u); (b)-(v); (c)-@); (d)—11)
4. (a)-(v); (b)-(ui); (c)-(); (1)

Options:

645350114731 1
645350114732 2
6483501147322 =
45350114724 4

Question Number : 149 Question Id : 64635029225 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e 2 [i-1 5 @11 @ TR A Code ITEEAT 76 ThEE! a6

-1 -1
@ o 1) zmemEm
(b) fufe ) R
© (i)  =fx
(d) =rfE ) g

Codes :
1. (a)-(i); (b)-); (©)-(v); (d)-i)
2. (a)y-(u); (b)v); (c)(1); (d)-(iut)
3. (a)-(u); (b)-(v); (c)-@); (d)—11)
4. (a)-(v); (b)-(ui); (c)-(); (1)

Options:

645350114731 1
645350114732 2
6483501147322 =
45350114724 4

Question Number : 150 Question Id : 64635029226 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Ter™E BAE [-1 5 f{-11 @t T g Code ITer@AT T4 TR 994

faf-1 faf-11
@ em=a O ey
() = (i)  femmr
©) gr= FEE i) g
(d) == (v) zai

Codes :
. (a)-(1); (b)1); (c)-v); (d)(iii)
2. (a)-(m); (b)-(v); (¢)-1); (D)
3. (av); (b)), (c)-(u); (d)—1)
4. (a)-(m); (b)-(1); (€)-Gv); (1)

Options:

645350114735 1

645350114736 2

645350114737 3
645350114735 4

Question Number : 150 Question Id : 64635029226 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Ter™E BAE [-1 5 f{-11 @t T g Code ITer@AT T4 TR 994

faf-1 faf-11
@ em=a O ey
() = (i)  femmr
(©) g1 FamH i) g
(d) == (v) zai

Codes :
L. (a)-a1); (D)-1); (e)1v); (d)uii)
2. (a)-(u); (b)-v); (e)~1); (d)—1u)
3. (a)-(v); (b)), (e)-1);, (d)—1)
4. (@)-(u1); (b)-(i1); (c)-1v), (1)

Options:

646350114735, 1

646350114736, 2

645350114737 3
645350114735 4



